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Indian Constlj:utmn
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INSTRUCTIONS TO THE CANDIDATES

Answer all the fifty questipqi\‘; each question carries OI;EA‘mark‘

Use only Black ball point ‘p‘en for writing / darkepir{g the circles.

For each question, aﬁer selecting your ansﬁf‘ér. Adarken the appropriate circle
correspondin‘gﬂ;t_yt_ie same question number on the OMR sheet.

Darkening t\\'i) cifcles for the same quegﬁgfl makes the answer invalid.

Damaomaiuver\\ntmg. using “hlteners on the OMR sheets are strictly

prohabned h , g

O

1. Which Article of Indian C omtxtutxon la\ s down the melhod of Amendment?

2,

-~
J.

4.

-

-

6.

~

a) Arucle 360 b) Anu.le 368 L) Amcle 370 d) WArticle 376

™ o

a) War e A b) E\temal *\QQICbSlOH
¢) Armed rebelliam, d) All of lhe:e. N

b MY \-\ A\ b
o™ Ry, AN

Govemnor addresses his resignationtoy, - A
a) The PrimeMinister , » b) The President

c) \"i“ Pliesidem d) Ch\ef"Mmhter

AT g
o

=Y

Elemon Commission of Indxa conduux elecnon 10
a)~Parliament e s
b) ‘State Legislatures, » ¥ N

“0) Office of the Prealdem and Vice Presldent

d) All of these

The Pre\ldunt b empo“ ered to dlssol\ -
a) Only Lok Sabha b) Only Rajya Sabha
c) Both Lok ‘Sabha and Ra;m Sabha d) None of these

On what grounds the J udges of Supreme Court are removed?
a) Unconstitutional b) Judicial Review
¢) Proved \Ihbeha\ iour , incapacity d) None of these

How many tines (he President of India can seek re — election to his post?

a) Once . ¢ b) Three times

¢) Two.times d) Any number of imes
Ver—-B-1o0f3
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20.
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Collectively the cabinet is responsible to the

>sident
a) Prime Minister  b) Lok Sabha d) Preside

¢) Parliament

This is not a Fundamental duty e
a) Respect to National Flag and National Anthem
b) Safeguard Public property ) >
¢) Respect to elders and teachers ,

d) To preserve culture and hmlagc of [ndm

President of India address the joint sesqu)n of both houses of Parliament 1n
a) First session b) Sccond session  ¢) Third SCSbIOﬂ .. d) None of these

The Chief Justice and othert Tudgcs of High Court contmuc in oﬁ'cc until they attain the
age of
a) 60 Yecars b) 62 Years c) 58 Ycars d) 65 Years

What is the syster oflcgnlalurc in the State ofKarmtaka"
a) Bicameral . "t.Jb) Unicameral ) “Tricameral d) None of these
5 1y v'\
Ly o\

In our Country, the amendment of the Consmutlon can be initiated by the

a) Parllamcm ) b) People  , ¢ President d) Supreme Court
To declarc ndtlonal emergency, ay duusron must be taken’ by
a) Chief Justice b) Lok Sabha c) Rajya Sabha d) Union Cabinet
The speaker of Lok Sabhag sha}ll be elected by the ., A\ AN
a) Member of Rajya Sabha b) PJ’CSlan[ r \“‘ :
¢) Members of Lok Sabha d) Vice - Pre51dent '

A e ™ y

The size of the njmlstry in a State is decided’ by the A \‘“
a) Governor 4. %, b) Chief Mmlster

c) Chxefjustlce of'ngh Court / - d) Members of Legislative Assembly
Who premdes over the joint §esswn of Parllament"%g

a) Speaker of Lok Sabha «_ |/ b) President

c) Vice — President \ ;E’ d) “Prime Minister

(

The maximum number+ of Mmlster mcludmo the Chief Minister in a State shall not be

{ )
{9

“more than of dehah Sabha’s strength.

a) 10% ) b) 12% ¢) 15% d) 20%

L

Which amendment of the Indian® Constltutlon lowered the voting age from 21 to 18?
a) 42™ Amendment b) 44lh Amendment  c) 73" Amendment  d) 61% Amendment
Which one of the followmg "Amendments to the Indian Constitution is called a Mini

Constitution?
a) 24" Amendment b) 38lh Amendment ¢) 39" Amendment  d) 42™ Amendment

The Original consmutlon classified the Fundamental Rights, into seven categories but not
there are only
a) Three .p_ategones b) Four categories  c) Five categories d) Six categories

Qe
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India has which system of Government?

a) Presidential b) Monarchical - ¢) Parlianr tar%/' d) Autocratic

The Government of India Act introduced a system, of.-dlarchy in the provinces ; Dyouchy

means a system of R, ~
a) Responsible Government b) chtatorshxp
¢) Double Government A *d) Aristocratic Govemment

\

“\‘"r 4
Reservation in promotion to SC’s and ST’s permltted in """'5"-’?:3%
a) Article 14 b) Article 15 f ¢) Article 16+ d) Article 18
’\ ,; /“\
Which of the following is not covered under Article “20 “protection in respect of
conviction of offence? A,
a) Right to livelihood A v b) Noex — post—facto

c) No doublejeopardy " f d) No¢ §é1f incrimination

P \

Article 196(1) (a) guarhntees freedom of speech and expressmn to

a) All citizen oflndla «b) ‘All Indian and foreigners

c) Only person'I below 21 years of age d) Only person attained 60 years

Cultural and Educatlonal Rights are dea]t in

a) Article 80 and 31 b) Article 27 and 28 c¢) Article 29.and 30 d) Article 14 and 15

A, - 7 AB}"

A new chapter IVA on Fundamen}zﬁ Duties was msertgg in the Indian Constitution in
a) 1972 b) 1976# c) 198¢? bdﬁ 1984

Which one of the followxr';\(:? undamental nght\g}s described by;D& A. R. Ambedkar as
the heart and soul of Constitution? v%

a) Rightto Equallty 3 (’%b) Right to Relj glgn

c) Rightto Constltutlonal remedies A g d) All of these.),

: \"’,# ”&"%

Uniform civil cocfe for all citizen isy Q ’

a) Dlrectl("e pnncnples y b) F undamental Duties

c) Fundamental Rights («"3 . j d) None of these

"?\ «?x,

The idea of the Constlt?tlén of India was ﬂashed for the first time by :

a) M.N. Roy B) Momal Nehru 4\c) B.R. Ambedkar d) M.K. Gandhi
“The first session oftl thc‘Constltutlon Asgle&“rhhly was held on :

a) 25 December 1949 <{ b) 26 January 1949

c) 09 Decemtgfr 946 ,&;’7’ d) 11 November 1946

J*L‘

Which one oﬁﬁhe following acted :s the Provisional President of Constituent Assembly?
a) Dr. Rajendra Prasad /&, b) Jawaharlal Nehru

¢) K.M. Munshi d;s:}& d) Dr. Sachidananda Sinha

The maximum influence on the Constitution of India was exercised by :
a) The Constltutm‘hs fUSA b) The Constitution of UK
c) The Govem@mt of India Act 1935 d) The Constitution of Ireland

é:&'& Ver-B-3o0f5
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is the key to open the minds of the makers of the C‘onsmutlon
a) Fundamental Rights b) Directive principles of State Policy
¢) Preamble d) Fundamental Duties

This is not the right of the arrested person

a) To produce before the magistrate immediately
b) To inform him the grounds of his arresty, ~

¢) To consult his lawyer

d) To product before the magistrate wnhm 24 hours of his arrests

Under which Amendment, a new Artlcle 21 — A was mserted and it provides for “Right
to Education” was made a Fundamental Rights.

a) 76™ Amendment b) 8()lh ‘Amendment  ¢) 91° tAmendment d) 42™ Amendment

The concept of secular state 1mp11es

a) Noreligion 9 ¢ b) Dictatorship

c) Neutrality ofrellglon ,a) Adoption of a single religion
‘\

The federal features of the Indian Constifution provides for :

a) Distribution’ of legislative powers between the Union Government and the State
Govemmem P

,’v,
4

c) Distribution of powers between Lok Sabha and RaJya Sabha
d) Distribution of powers | between Prime Mmlster and Cabinet.

'\-\ .\Y R

)
How many times the Preamble of the Indlan Constltutlon has beer"amended?
a) Once b) Twice c) Trice .. ¢ d) Notamended
/.\ { 9 ,»e;;\,\'
The Directive prmc1ples of State Policy - s ;\ d
a) Cannot be enforced in any count=, =
b) Can be enforced in High Courts'only ~ 7
c) Can be enforced in Supreme Court only Ny

d) Can be enforced in both Supreme Court and ngh Court

The Chief justice of Supreme Court of Indiads appomted by

a) Prime Minister | 7y “S_\b) President

"=, 'd) Parliament

&

To whom the Indnan Constltutlon has given the power to pardon the sentence of death?

~’\

a) Chief Justlce of Supreme Co‘ulrt N b) Governor of State Government

c) President ofUmon Govemment d) Both (b) and (¢)

Fundamental duties are app]lcable to all

a) States b)} Forelgners ~ ¢) Citizens d) All of these
President can resign to “his office by giving his resignation to

a) Chief Justice,0f India b) Prime Minister

c) Speaker of L:ok'Sabha d) Vice President

~
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46. The Vice President has
a) E{(ccutive powers b) AL %twc powers
¢) Right to preside over Rajya Sabha d)- ht to grant pardon

47. The members of Lok Sabha are elected foqﬂa term of
a) 4 years b) 6 years 12 years (f)g“\'S years

48. Who appoints the Chairman of the Whion Publlc Service Commnssnon‘?
a) President % b) Prime Minigter
c) Parliament % d) Chief Jusugc of India
~y
49. The Supreme Court has ong A jurisdiction to decide_ #
a) Dispute between twa O more states \
b) Dispute between Iﬁﬁ*a #nd Pakistan

c) Dispute arises dx srent levels of self government
d) Criminal ca(s‘i} Téd directly to Supreme Codrt by any citizen.
]

50. President of'l%dia
a) Real execut b) Head of cabinet

c) Hﬁ f§t_he Government ‘&:&é’, d) Nommﬂ&(fzcutwe

& & £
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INSTRUCTIONS TO THE CANDIDATES
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- < Ny
e '»., \ ’

1. Answer all the ﬁft} que\hons each question cdrries one mark.

Use only Black, Q‘i“ _point pen for writing/ dalkemng the circles.

For each que\s\tlon, after selecting your answer, darken the appropriate circle
corres;{zondmg to the same quei(tlon ‘fiumber on the OMR sheet.

4. Darkemng two circles for the sghme question makes the“(;nswer invalid.

-

5. Damaging/overwriting, usmg whiteners ongt@ OMR sheets are strictly

prohibited. & @ ﬁ% @ h

1. Globalization , growth of trade unions, pubhc?" Telations and positive,atmosphere are some
factors that enable f‘ 4
a) Good frlendshgp Ay ® ob) Isolation fromsomety
c) Happiness **\\ d) Communication growth
£ 3
2. Which of the followmg is NOT a?charactenstlc of add1ct10n‘7
a) Dema\l\ : b) Ne§§t1ve consequences
c) Loss™f control (‘;Q v"“ d) Habﬁual behavior
f)

3. Dghxal is person’s (‘\1 %@'y
) Expenence ofa bﬁckout episode or meémory loss.
\ﬂ) Inability to per ’"élve that a behavnor 1s;self — destructive
c) Failure to stop an-addictive behav10r
d) Change in ués‘fxal pattern of drmlimg or drug use

R

4. Temporary physwal and psychological symptoms that occur when use of an addictive
substance is discontinued ls’%k

a) Relapse b)%&&ompulsmn c) Withdrawal d) Addiction
5. Chemicals that relaj@;;lessages (impulses) from one nerve cell to another or to other cells
are 3
a) Enzymes “ﬁ&s i b) Neuro transmitters
c) Synapses P d) Chemoreceptors
f“% /
%}%\&@ Ver— A-1of5
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What is the dclnulmn\ of overweight?

Q) BMI > 25 kg/m? b) BMI= 25 kg/m’

¢) BMI25 - 299 kp/m® ) «BMI <25 kg/m?*
Communication is a partof — skills. ‘ ' Sy,

a) Soft b) Hard /. ¢) Short d)"“R(mgh

Which of these factors is not mquuul for communication yo\vtil?

a) Globalisation ,,Af‘-f;,‘f_i b) Negative /\lmohphcrt.
¢) Growth size of organizatiol s|@ d) Public rc,l.monq
o & !m
Body language plays an- lmpgonunl role in ,f:
a) Communication b) Judgment ¢) Bothi(a) & (b) d) Nonc of these
s
RS J\‘) I,A ’
This causes tunnel v sion PN
a) Smoking , @ b) Alcohol u) Barbiturates d) Vitamins A

! a

This c.auséa m'\\lmum accumulation of faf in the liver.

a) Mugt &'Egg b) Alcohol \& ¢) Saturated fat: Y
oy &V\- "(t:;?'

Using ubbn.vmtmns in c.()mmumcatmn leads to whlch,t‘ypé ofcommumcallon barricr.

a) Language / Linguistic Kg b) Phglslc 1

¢) Cultural A%}\" d) drgamzatlonal

d) Starch

«‘ "y
vq\,,\

Obesity occurs due to; Morc consumption, of \}
a) Calorie i‘% b) Protein o c) Vitamins /\(Q'\y d) Nonc of these

foy,,° &n},, 2
What is intimatdff\clated? {:‘* %4
a) Body & hedlth S Body & anind
c) DnscasL ‘& Health (ﬁ,‘f\(’"“?ﬁ d) Body\&’Spmtual values
Ay .\\ "» ) ! P ) \‘i\
What mﬂucnccs your hcalth'l;g v ?
d),» Hcrcdlty 3 » b) Environment
a,(.) Physical cnvim?mcnt ﬁj\d) "All of these
A\ >

A lack of Judgmcr(n re;,ardmg, whethcr a particular substance or behavior will be healthy
ofdama&,m{, to onéself is known as «‘ Ny

a) Denial | w)b) Obscwon a ¢) Lossofcontrol  d) Compulsion
Which of'the followmg dlscascs is transmitted by an insert vector?
a) Malaria b) HlV?AlDS c) CTB d) Nonc of these

Disease of the heart, joint 'lnd nervous system is called
a) Degenerative dr:eascq b) Mental diseases
¢) Communicable discases

\e'x

d) Deficiency diseases

/f\\ By VCI‘—A—Z 0f5



BSFHK158/258

19. How often one must have a routine body checkup?{ o

a) Oncein 10 year b) Twice a year C) Oncc’k; year d) Oncce in 5 ycar
20. How do puzzles help you? "{‘ e Cg'{x.;

a) Physical exercise b) Thcy are a time pass '

c¢) They help exercise the brain "d) They help you lcam numbcrs
21. Alcohol based hand rub is the preferred mcthod of hand hygrene Ry

a) False b) Truc > ) c) Not sure \,:13 »d) Nonec of'these
22. Is addiction a 8¢ Y

a) Mental disorder b) *Physrcal disorder c) Both (a) & (b) d) Nonc of these

M) o)

23. Important roles of lrfe a‘ﬁr’e ¢

a) Feeling happyx w-b) Enjoy life c)'s_];fighting diseases d) All of these
24. Signs ofmen&‘hllness are Qxé

a) Abnormahhmkmg perception and judgment

b) Abn%rmal changes in feeling and: memory Ly

) Bothi(a) & (b) AN L

d) Abnormal changes in behavior towards others. (&’%

25. People suffering from menf(é ‘diseases in India.  \) 4 @
)%3?6 7 millions c), 1”0:7— 15 millions  d)® 60 — 70 millions

a) 1 — 1.5 millions

b 8 e !

26. Social health haza,rds\__.‘;ncludes. »9 {4“'&7

a) Stigma ,sf:“‘}% \¢>1 c‘b) Ant1—socna1:behawour

c) Higher crime records d) All of these

& &
e 4. c’“‘@y

27. Hyper obesrty value in terms of@l\g RN

a) > 25.0 b) 40 ‘gy:@ c) >40% d) <40

N Vs
¢

28. Goals ofcommumcatronﬂ ”(";%

ia) To inform , to persuade b) To inform, fear of offending

“=¢) To persuade, fear of offendmg ‘d) None of these
/\

29. In which yearéWHO artlculated the rlght to health in its constitution?

a) 2000 fa, "’”" b) 1946 %\3 c) 1952 d) 1987

&;' %

30. Spiritual health refers ,

a) Body composition b)#i\iledlatlon c) Exercising d) All of'these
31. When findings are difficult to generalize to the world outside of the laboratory, we say

the research is lackifigﬁ,in validity.

a) Ecological )5;:\33}; "b) Economical c) Empirical d) Experimental

~ ¢
$y Ver— A—3 of5
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32.

33.

34.
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36.

3ils

38.

39.

40. £mof10nal well bemg mcludes
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stimated that Tobacco} WIU k111 as many as ______ people of

rt in 2013 ¢
Esc Z)Zr[]{ti) r;epfowHO framework conventlon on_ tobacco control is not implemented

rapidly. b) HalfBllllon

:; Izliaillllli]oonn N d)” Quarter of abillion ¢

Communication disease can spread wflen we use something already used by some one
like a towel , cup , handkerchief, etc ?This statement refers xfo 'which of the following

means through which the dxsease can be spread. i) Insects: »\,\'ﬂ) Contact.

a) Onlyi b) Only 11 > c) Both i & i, d) Neitheri & ii.
/‘ \, «'M»-,
Social exclusion refers t0\ 3,\ » l\_ x
a) Poverty b) .0ld age c) Mé'nfal’ill health  d) All of these
'f%';?\; &
Which disease spreads ‘through open defecatwn“’
a) Cholera AL b) Malaria p :“\é) Dengue d) Elephantiasis
,
Emotional, healtfx refers to & ’
a) Problgm Solving < % b) Empathy towards others feeling
¢) DrinKing lot of water m,\:)“ d) Havmg good nutrition
/“k"\,
Basic Instincts of human llfei; d R ?%Pui‘*’ <§%
b
a) Self preservance b) Somal c) Se;SQa %Aﬂ of these
'%}; . ;* 5 s

Signs of compulsxve _buying include o N ) 4 &
a) Purchasing only one item of your favorlte color ‘3’%),
b) Showing new‘“clothes to your friendsor famlly 4 »x«;é‘
c) Repeatedly buymg more than you, néed or can afford
d) Purchasmg Several gifts when;they go on sale. £ ’

/( )‘?' \'{ X N 2N \"9’

The most notxceable effect of THC the psycho actwe\s}ﬁbstance in marijuana is
a) Hyper active b){Blo(Ld Shot eyes Z)/\ Slouching posture d) Loss of appetite

&
By

*«ﬁ ;%17
a) smoking iﬁ)} L ) Drinking alcohol
c) Stress sxtuatlonébmanagement y Q: d) None of these
('e',g.:,,? : (i?y
41. Wellness di‘rp‘éﬁéjbns are ;\“j’bg
a2 Y b4, ¢) 6 d 8

42.

43.

What are the reasons for taﬁgg drug?
a) To feel good b) ‘Lo do better ¢) To feel better d) All of these

Planning refers to<
a) Communities in: wﬁlch they live in b) Health services
¢) Financial stablhty d) None of these

Ver— A -4 of5
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44, What is the goal of social engineering?
a) Sabotage a person’s social media

=

S
43" BSFHKI58/258

N
{ ™ ]
b) rIﬁ%?ild trust

d)e j‘gcatﬁsh someone.

o

$

c) To gain vital personal information
45. After drinking Alcohol, consumption oftlﬁfgﬂcgds to death. X
b) Opium " ~c) Onion ﬁy Nonc of these
€f§ ¢

a) Morphine

#

46. How is substance use disorder txgb@
fl»

a) Multiple types of treatmen

c) Recognition of problem
ﬁtﬁof\' addictions?

47. Whatare proac_tive.factto\b

a) Positive relationship
c) Communitypofé‘}

74 :
b) Alcohol drinking
d) Both (a) &(c)

b) D?ug;:erimentation

d) All of these

) Aware of own communication barrier

48. Objectives of:{o‘[(nmunication skill are
¢ d) None of these
‘@ ogeg as

a) Active Jistening skill
c) Both/a (b)

Post Cotrespondence Problem (Pt
o induce vomiting '
hetic used in vet€rinary practice

etic with which person remains cons
ental psﬁmatric medication. %s
ut anl%

49.
a) Adrugt

b) An anest

c) An anesth
d) An experim
.

Which of the follovfrfn’g statement abo

50. ng
a) They are no aglctlve
b) They are stimulants
c) They
d) The

have’no known side effects
Zuse drop in heart ratg@d respiration rat

139-» as originally devel

;%;?bm feels no B&@

4

2 amines is tn&l\
Q> -
%

&

«&5
* * ok * ok
«xﬁg"'
4
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First/Second Semester B.E./B.Tech. Degree E xammatmn Decc.2024/Jan.2025

Time: 3 hrs.

Principles of Programmmg usmg C

/ ]
{ &

Note: 1. Answer any FIVE full questions, (/mmmk,' ONE Sull question from each module.

2. M : Marks, L: Bloom’s level , C: C(mrS‘e lmlwmes

Max. Marks: 100

o L
, Module l‘ A M| L C
Q.1 | a. Listand explain any 5 charaumsucq oi a computer. L 10| L2 | COI
b. Draw the block diagram of ag compulcr explain all of its, blocks such as | 10 | L2 | CO1
- input, output storage and CL’U? o,
| A7 OR A ,J
Q2 | a. Explain the followmgprogrammmg paradigms. ;;:r:;:;s ’ 10| L2 | COl
i) Procedural programming )
i) Object- ornen?ed programming .
| L Y 1\ A, , e
b. Explam the structure of a C progrdm with ' aql cxample. 10 | L2 | COl
\h - -
A Modulé - 2
Q3 |a. Fxplam Atithmetic and Re]dtxondl operators of C with drlrcxamplc 10| L2 | CO2
=) A A,
b. | Develop a complete C program to ﬁnd the real roots of y'quadratic equation | 10 | L3 | CO2
by accepting the coefﬁcwnts j
‘ ,,\\_« e L
%“ OR {; A’H\U @u .
Q.4 | a. Explain logical and assignment operators of,C:with an example,~ 10| L2 | CO2
»'\"'\J ,{%
b. Write a C prgéram to find the factonabofa given mteg,er n*-» Explain the | 10 | L3 | CO2
computation process. R
2 g 2 - e ‘(\
e _“Module -3 Y
Q5 |a. Writc'”éi‘C program to find tﬁc%lur‘ﬁ and average ofnintegers. 10| L3 | CO3
LN #
b. AL Explam the concept ot"ﬁmcf'on dccldratlog/and function definition with an | 10 | L2 | CO5
< éxampl
i N Al g
Cx 4 OR ,
Q.6 |a. WriteaC p gram-{o add two mxp: mgtrlces 10/ L3 [ Co3
3 Loy
b. ' Explain the fb"owmg with an éxample. 10| L2 | CO5
i) Passifig the entire array ¢
if) Passing the mdnvnddal;lcmcnts of an ID array.
A3 Module—4
Q.7 | a.  Writea C program tosfind the length of a given string without using inbuilt | 10 | L2 | CO3
- function.
| A
b. What is a poifiter? Show the use of two pointer operators & and *. 10| L2 | CO3
4
‘(Q%y 1 of2




£

BPOPS103/203

OR L7
Q.8 ] a.  Write a C program to compare two given string S|1 and S" vithout using | 10 | L3 | CO3
inbuilt function.
(k’&f‘
b. How do you declare and initialize a pointer in C? rStl;o\X with an example. 10| L2 | CO3
1
Module =5 \%¢,”
Q.9 | a. What is recursion? Give one example. 3 "’tj ’ N 10| L2 | CO5
| 5 A
b. Differentiate between arrays and structures s In n C. Ag;:% 10 | L3 | CO4
& ,s.""\
..OR/ ~ &
Q.10 | a. Explain the process ofopemno aud closing a file in C. <Ny 10| L2 | CO5
N AN
b. 10 | L3 | CO4

- Differentiate between structureand unions in C with example programs.

. T
l‘\
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Second Semester B.E./B.Tech. Degree E.\'anfilig;\titoh, Dece.2024/Jan.2025
Introduction to Electronics and Communication

N
A

Time: 3 hrs. . V Mux. Marks: 100
Note: l Answer any FIVE full questions, (.Imowng ONE full question fmm cn('h module.
2. M : Marks , L: Bloom’s level , C C onrse outcomes. ‘
\{ ' ,~
N NS N . '.?; S - .
{Module - 1 ) M|L| C
Q.1 | a. With neat block diagram, explam ‘the working of a DC power supply also | 10 | L1 | CO2
' mention the principal components used in each block. /\ 4
j f Ew N
P A
b. With neat circuit dngram and waveform, explain, the\worl\mg, operation of | 10 | L1 | CO2
a Bi-phase rectifi er circtit. ,
! % o
v OR < %
Q.2 | a. | Define feedback What are the different: types of feedback available, what | 10 | L2 | CO3
are thefadvamaoes of negative feedback used in amplifier? Derive the
overall'§ galn for negative feed back.{ :
Aoy Phhd ,{@y | (R -
b. | Define amplifier, what are the different typcs ol'amplltjegused in real time. | 10 | L1 | CO2
s . Qj‘l@ﬁtﬂ,«m, o
/5. Module -2 /-‘fa’“*zaj ) "\y
Q.3 | a. | What is an oscillator and Wwhat are the condmons to'be satisfied for.a, dewee 10| L1 | CO2
to work as an oscillator™> it’%, »
n? B’ <!
b. | With neat dlagmm ,and waveform explam~the working of RC ‘phase shift | 10 | L1 | CO3
- oscillator. \» " \), Aoy,
‘ (‘:w\
| 2
& " » OR N
Q4 | a.  Explain the concept of openloop ‘Woltage gain mput\and output resistance, | 10 | L1 | CO2
input.offset voltage and slew rate of op-amp with rélevant diagram.
%‘5\ -} &
r3 -~ J o
3 %»What Is a operatlon amp]xﬁer'? What are the ‘op-amp characteristics in real | 10 | L1 | CO2
"3 ' Modulé -3
Q.5 | a. | Design the AND OR, NOT gate,_ \ﬁlth the help of truth table. 8 | L1|CO2
*w
b. | Using 10 complement subtract 72532 3250. 4 | L1 | CO1
| 4’%
c. | Given two binary number X = 1010100 and Y = 1000011 perform the | 8 | L2 | CO2
subtraction 1) X-Y “'%u) Y-Y using 2’s complement.
¢
(/*'iy%
- | of 2
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Q.6 . | Express the Boolean F = A + B'C in a sum of minterms nd = 10| L2 | CO2
" in a product of maxterms. )
| £,
| “f
' Design a half adder by constructing the truth table and*simplify the output | 10 | L1 | CO2
; equations. ﬁ%}f
Module -4, "o ~
Q.7 i)  Write any 5 differences between RISCB\and CISC processor. < ™ |10 | L2 | CO3
i)  Write any 5 differences between Microprocessor and Mlcrocontrqller
| ¢ r”‘« .
Write the differences between ,\embcdded system vs generaI computmg 10| L2 | CO2
system. Yy, 4 %.\
r”""“a”\’) '@7“;3;%
¥ OR r
Q.8 With neat diagram, explalp the major elements of embedded system. 10 | L1 | CO2
o ¥ RN
Define embedded systém and explain the classification of embedded | 10 | L1 | CO2
system. é%%’ s
ﬁt‘*ﬁe- v ’ K(é’g\v'v
A & 7 Module =753,
Q.9 With neaf:dié‘gram explain the basic bl%cks used in communication system. | 10 | L1 | CO2
£
%atwahe advantages and disadvantages of digital commumcatlon over | 10 | L1 | CO2
analog ommunication? *’n@ %i?'
; A N
A____OR k) 7 O,
Q.10 Explain the types of commumcatlon system avallé’bte with neat diagram, | 10 | L1 | CO2
e i
10 | L1 | CO1

Explain the need for modulation and?%%xplam briefly the fypes of
modulation techn‘fqyes used for commumcanon ,

&
&
R
&
i,
A
F4

'fgw 2 0f2
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Second Semester B.E./B.Tech. Degree Exammatlon, Dec.2024/Jan.2025

Mathematics - Il for CSE ‘Stream

Time: 3 hrs. ) Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosmg ONE Jull question from each module.
2. VTU Formula Hand Book is permitfed. 4
3. M : Marks , L: Bloom’s level , C; Course outcomes.
o
Module= 1 A M| L C
¢ ba N AN 07 | L2 | COIl
Q.1 | a. | Evaluate I I J (x“+y“+z~2)‘§i§dydx Ay,
-c -b -a -~ s v;;*' -~ V4
— Y 07| L2 | CO1
b. | Prove that B(m,n):—r';l—'B— AN
J‘..\I(rhi-n) .
R £ \ 06 | L3 | CO1
c. | Evaluate IJ F $‘ y’dydx by changmgtq‘polar coordinates.
PN ) ,
n<~ s 4 OR\ =
Apeaa 2Vax ’ A\,, 07 | L2 Col1
Q.2 | a. | Evaluate j Ixy dydx by changc the order ofmtegrat}on
0 x‘ ‘f’ - *
A S
w2 a® PR = Jo7|L2]CO1
b. | Show that +/sin dO =% s
l Js'm s [ 5 ? S
c. | Write a program.’ to» find the volu rr%e;(; ‘the tetrahedron ‘bounded by the | 06 | L3 | CO5
planes x = 0 y=0, z=0, —)i+l,+‘5-”"—?1 ; Y o g
a /_ib4i€§‘ c £ Ny
‘\ ?} N M N :&9 ) '73‘?-.\
A . Module —2 Ty,
Q3 |a Fmd the directional den\éatl‘\‘/e“"of(b 4x7’ — 3x’y’z at the point (2, -1,2) | 07 | L2 | CO2
along 21— 3)+6k ! Ny
. T, /B ¢ 4-*:\\
b. | Find the value"r&x, of the constants a, b, ¢ such that|07]| L2 | CO2
F= (x+y+az)1+(bx +2y Z)J+()&+C)’+2Z)k is irrotational.
c. | Show that the,\_gylmdncal co-ordlnate system is orthogonal. 06| L3 | CO2
\'L-W' X
£  OR
Q.4 |a.|Find the value of the @égn*'stants ‘a’ such that the vector field, | 07 | L2 | CO2
F=(axy—2")i+(a— 2)x4§'j'42 (1-a)xz’k is irrotational.
L
b. | Find the angle betW@e_g the surfaces x° + yl +722=9 andz=x"+ y“’— 3 at| 07| L2 | CO2
the point (2, —1,%)55@% ]
c. | Write a program to verify whether the following vectors (2, 1, 5, 4) and | 06 | L3 | COS
(3,4,7, 8)§’§r§,orthog0nal.

,4«;2.,.}« g
o,

&

/™
A | of 3




Module=3 N
Q.5 | a. | Express the matrix A = .l S| i the vector spaces 0f 2x2 matrices as
PR VR I I A
a lincar combination of B = o —1I'*" ~l\0‘ 0 0
b. | Determine whether the vectors V= (l 2 3) Vo = (3, 1, Qand 07
V3=(2,5,8) are lincarly dependent ()rhnearly independent. PN
¢. | Verify the rank nullity theorem fof tht.“hm.ar transformation T : R — R 06| L3 | CO3
defined by T(x, y, z) = (x + 2y z y~1 z,Xx+y-27) k:\ Y
\ 3 N i
& v Ol{ Vo 4
Q.6 |a. LLleL the subspace oﬁLR “spanned by AY 07 | L2 | CO3
=(1,2,-1,3,4), x»c(2 4,-2,6,8), X3=(l,\§ 252465
x4—(l 4,5, l 8) and Xs=(2,7,3,3,9).
Find a subsect ofvectom which forms a basis of W.
Y oY
b. | Consider tlle&EOWlng polynomials in p(l) and inner product 07| L2 | CO3
f(t)—t+'Qg’\g(t) 3t-2 h()=¢ —Qt»—3 and <f, g> = j f(t)g(t) dt.
iy
(1) Find <f, g> and <f, h> %‘\" ("‘:,
(i) Find || f|] and g o f\
Ly
c. | If Vis a vector space of polynomlals over R. fln‘&iﬁ baSlS and dimenision of | 06 | 1.2 CO3
the subs;;)accs W and V,ﬁpanned by the golyn rﬁials ¢
x1=0 =20+ 4Kl =20 -3¢+ 0 | (é,
x3=t +6t—2‘®,‘ : x4—2t—5‘ff}>f7t+5 AN
7 Moduw 4 i —
Q.7 | a. | Find the rcalsroot of the equa,uzohrx logio x — 1 ZMOW by Regular Falsi [ 07 12 o7
method*‘Cerect to four decun lp]aces y
. P
b. F;\om thc following table ﬁnd the number ¢f*sfudents who have obtained | 07 | L2 | CO4
less than 45 marks. & ¢ A
[ Marks 3040 [ 40-50 [ 50~ 60 | 60—70 [ 70 — 80
No. of students | ,*31 42 @ 51 35 31
A
oy, T m};* 06 | L3 | CO4
c. | Evaluate -[l > by using Sm}pson s (1/3) rule taking four equal strips.
o 1 +X <
"év.:::.\ 4 OR
Q.8 | a. | Fit the polynomial for thé*following data using Newton’s divided difference | 07 [ L2 | CO4
formula and hence ﬂnd f(3).
X 2 S 4 5 6 8 10
y OS] 96 196 350 868 1746
b. | Using Lagrdige's intorpolation formula find ). 07| L2 | CO4
X ok B "0 ) 3 6
Ly -4 2 14 158

«‘"‘{-v‘:“j’{?.-é, 2 Of 3
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4 .-‘wTs; '.y\ : Py
Use Simpson’s (3/8)" rule to evaluate J' '™ dx by taking four ordinatcs. o s
' NS )
A,
Module -5 Ly
Q.9 | a. | Employ Taylor’s series method to solve the initial, va[uc problem 07| L2 | CO4
dy
ax =x-y’; y(0)=1 atthe point x =0. l{by consxdcrm&, upto 4" degree
terms. (R | | fi’%
’ w,r’ a;,}

b. | Apply Milne’s method to compute, g() 4) for the dlﬁ"crenu:ﬂ ‘equation | 07 | L2 | CO4
P

9 _x2+¥, given that (1)4“ (1.1) = 2.2156, y(1.3)3 ==24649 and

5 g y A

dx
y(1.3)=2.7514 correct to fpur,demmal places. ¢
A, A
c. | Use fourth order Rung'e“;g.(}ft’ta method to find th\c&}}{ahie of yat x = 0.1, 06 | L2 | CO4
given that a ' B
d Ny ¢’
Y _3er 42y, §@ =0 andh= 0.l AN
dx Vs "&Xg’
,@\ '
| » OR 7
Q.10 | a. | Use Modlﬁed’Euler s method to comipute y(0.1), given that’*sg, 07 | L2 | CO4
P

-

dy _x Q+ y ; y(0)=1 by takmé"h 0.05.

N &7 AT &

.

g 4 07 | L2 | CO4
b. | If %X —2e —y; y(0) = 2{?@ 1) =2.010, y(02)22:040 and y(0. 3)“% 090.
Find the value of y, Lx = (0.4 correct to ?\Jp decimal place by applym&,
Milne’s predictor.and Corrector method
M {.Q:\‘% )

S 0 . 5
c. | Write a progggm to solve : E; ’2y—3c" with ngi s 0 using Taylor’s O]} i QOIS

series method atx; = 0.1, X35 0§21 and x3=0.3. .

{ PR R A
&N ﬁ ﬂﬁ‘ Aﬁi‘;"’
A A B Uy
w 7 .
N Y
&
’
&
o
&
I 3of3
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Lo ' ’ | | ’ ‘ ‘ ‘ ’ BCHES102/202
First/Second Semester B.E./B. Tech. I)Lg,rcc Lxdmumlmn
Dec.2024/Jan. 202%
Applied Chemistry for\CSE Stream
Time: 3 hrs. \/’ Max. Marks: 100
Note: I Answer any FIVE full questions, choosmg ONE full question fr()m cuch module.
2, VTU Formula Hand Book is pcrml'ituf » “ﬁ\
3. M : Marks , L: Bloom’s level , C Coutse outcomes. Ay ™
- - \’lodulc—l 7 ¢ M|L | C
Q.1 | a. | Explain the working prmuplc of Lonductomctnc SeNsors (Conductometry) 7 | L2 | COl
1’ and applied sensors (Colom(nuf‘ry)v* @,x .
| 1>
b. | Write a note on Dlsposablc. 'sensors? Explain its advantages over classical | 7 | L3 | CO2
| sensors. 74
| 3\ \ =
| \ A ;b“, -
c. | Describe the consfrugtlon working and apphcatlons of Lithium-ion battery | 6 | L4 | CO3
' and mention its appllcatlons '\
| ?
| . Q )
N OR ™ -
Q2 |a. Whatﬁre “Electrochemical Sensors?# Explaln its applications in the | 7 [ L3 | CO2
i meastrremenl of Dissolved Oxygen’ (DO)
| 2 T LN N
L\
b. | What are Transducers? Explain“the applications oﬂ’Electrochemxcal gas | 7 | L3 | CO5
' sensors in sensing SOx and NOx. \Dw Q)
| {%’?" % m\ S L
c. | Describe the construcnorpworkmg and apphcatlons of Sodium-ion® mery 6 | L4 | CO3
} and mention its apphcatlons 4
i £ "h%-‘..,, A
.,;'i b4 Module22" ) S
Q.3 | a. Explain the types of organic memor}”dewces by taking P P-type and n-type | 7 | L2 | CO2
' semiconductor materials. R
| & /ﬁa
| A, Lo Ny
b. What*are Memory Devices? EXplam the classnﬁcatlon :of electronic memory | 7 | L1 | CO2
dev1ces with examples.
% ¢
l/\ 2 l\:b f = Y =
c. Explaln any four propemes of po]ythlophenes (P3HT) suitable for| 6 | L2 | CO4
optoelectromc devTces .ﬁ\s
\ LA ‘,
Do R
Q.4 | a. | Mention an?four propemes and apphcatlons of QLED. 7 | L2|Co3
{ J ,:\ \
|
b. | Mention an?'four propemes and applications of LCD-displays. |7 |L2|cos
. ”@\ B - ol
c. | What are nanomatenals? Explam any four pmpertles of poly (9- vmyl 6 | L2 | CO4
Carbazole) (PVK) sunta%le for optoelectronic devices.
/\‘j”w Module -3
Q.5

a. l Define metalho Corrosion. Describe the electrochemical theory of corrosion | 7 | L3 | CO2
by taking i 1r0)1 as an example.
|

«ﬁ Ry 1 of 2
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BCHES102/202

b. Describe galvanizing and mention its applications. eV 7 | L2 | CO3
c. Define clectrolyte concentration cell. A galvanic cell « 1< obtamul by| 6 | L3 | CO4
~ combining two copper clectrodes ofconccnnatlons 0.1 and 0 5 H immersed
in copper sulphate solution at 25" C. Give the cell rcactlon and calculate
- EMF of the cell. 'S °e
OR W, ’
Q.6 | a. Explain the construction, working and app}}xwtlons of Calomel Electrode, 7 | L2 | CO2
| g b Pa s
b. What is CPR? A thick sheet of arca 600 em” (93 inch’) is exposed1o air| 7 | L3 | CO4
- near the ocean. After a 6 months it was found to experience 4 weight oss of
360 g due to corrosion, if the dumt)/ ol'thc steel is 7.9 g/em’. Calculate the
| corrosion penetration rate in mpy and mmpy (Given K = 53/4 in mpy and
- 87.6 mm/y) X W) %ﬁ‘*a
| Y s
c. Explain : (i) leﬁ.rcntlalmefal corrosion &* 6 | L2 | CO2
(i) Water line corrosnon h.:;“
)i) Ah;g:a
A Module - 4 2
Q.7 |a. In a sample jof d?"polymer 150 molecules have the molecular mass | 7 | L3 | CO4
100 lz/mol, "00" molecules have tllCmmolccular mass 1000 g/mol,
j 350 molecules have the molecular mas§™10, ,000 g/mol. Determine number
; average and’ weight average molecular mass. Find the Index of
‘ Polydlspersxty -
b. | Explam the preparation, propemes and commcrc1al£z:ppgdca’f10ns of Kevlar. | 7 | L2 | CO2
£~ A
c. | Explain the generation ofhydrogen of Alkaline V& ater Electrolysis. ¥ |16 |L2|CO3
s ’Q\ . Ao\
=~ OR —
Q.8 | a. | Explain the synthesns ‘of polyacetylene and’me\hon its appllczglbns 7 | L2 | CO2
b. Explain the,@ggneratlon of hydrog'éxf}by proton exch‘clnge membrane | 7 | L2 | CO3
1 Electroly515 of water. ‘ ¢ ’
| 2
. Describe the construction and,Working of hotovoltai cells
c. | 4?:’* Qdﬁgklgp %m 6 | L2 | CO2
N %f%; “Module-5  »
Q9 |a. Jl{De:scrlbe the sources andL%omposmon of e- Waste materials. 7 | L2 | CO1
o
o & . T,
"b.;l Explain the ill E:Qecis”of toxic materials tised in manufacturing electrical | 7 | L2 | COl
' and electronic procluets %
l Pl %
C. Dlscuss the e\ltractlon of gold from\e-waste 6 | L2 | CO3
7’ . ¢ OR
Q.10 | a. l What are e-wastes? Expla{?izghe need for e-waste management. 7 | L2 | CO1
| )
b. Write a brief note on®role of stakeholders for example : Producers, | 7 | L2 | COl
[ Consumers, Recyglers and Statutory bodies.
S 6 | L2 | CO2

Y Explain the pfglgéiéllurgy and direct recycling methods.
T: o

* % % k%

{g& 2 of2




USN [ l [ ] l BCHEE102/202
First/Second Semester B.E./B.Tech. Degreé Exammdtlon
Dec.2024/Jan. 20%}5
Chemistry for EEE Stream
r'\‘./ '/
Time: 3 hrs. Y 4 Max. Marks: 100
Note: 1. Answer any FIVE full questions, chgast'ng ONE full question from gach module.
2. VTU Formula Hand Book is permltte T,
3. M : Marks , L: Bloom’s level ,,C: Colirse outcomes. A,
! 2
Module — 1 A M| L] C
Q.1 | a. Explain the conductors, semiconductors and insulators, based on band | 7 | L2 | COI
- theory. ?
1 N4
b. | Describe the purificatigh electromc grade Silicon by*Eloat zone method. | 6 | L2 | COLl
‘ 0}“\ o)
c. | What are conducuxi;’polymers? Explain the mechamsm of conduction in| 7 | L2 | COl
' polyacetylene
A7
Q.2 | a. What lS\électrolessplatmg? Descnbe electroless plating of copper in the | 6 | L2 | COl
manuf‘\ture of double sided PCB. & :
PN Y LY
b. | Explain the preparation, properties and commer(cial“i}'applications of | 7 | L2 | CO1
graphene oxide. ¢ %
A ) <€’vr
c. | Define number averagetand weight average molectlar weights. In agsample 7 | L3 | CO1
of a polymer, 20% mblecules have moleéutar ®mass 15000 g/n%l 35%
molecules have énolecular 25000 g/mo!‘}gnﬁj remaining m léc ules have
' molecular mass¢20000 g/mol. Calculate ;h% number avera; e ihd weight
average molec’“lar weights of the po ym r. Calculate PDIand*comment on
it. .~ , ; \ @
fQ Yy \fModule 2 g} 4
Q3 |a. Whatwfré PV cells? Explam tﬁﬁ‘* construction and *working of a typical PV | 6 | L2 [ CO2
’ cell, Mention its advantaéé@ .4
N> A
b.;*; ‘What are fuel cells? Describe the const%\;on and working of methanol- | 7 | L2 | CO2
‘%'%oxygen fuel cellﬂ%
i Ve £
Explam the;constructnon and worléngmf Lithium polymer battery. Mention | 7 | L2 | CO2
‘ its appllca‘g%r%% ég@%
£ OR
Q.4 |a. What are batteries? Describe the classification of battery with suitable | 6 | L2 | CO2
| examples.
1 ¢
b. | Explain the consfruction and working of Vanadium flow battery. Mention | 7 | L2 | CO2
‘ its applications%
5& ¢ 1 of3
A




BCHEE1023,

Explain the construction and working of sodium ion battcryﬁ Mcnllon its | 7 | L2 \6\2
applications. |
1
Module -3 b
Q.5 Define Corrosion. Describe electrochemical theory, 0Tcorros1on taking iron | 7 | L.2 CO3
as an example. R, 7
\r N
- What is anodisation? Explain dﬂOdlSdllon of dluminium and mcntlon lts 7 | L2 | CO3
applications. (R
Define corrosion penetration rate. {‘Vthjck brass sheet of area 400 mch2 1Is| 6 | L3 |CO3
exposed to moist air. After 2 ycarslof period, it was found to experience a
weight loss of 375 g due Stocorrosion. If the dcnsnty of brass is
8.73 gram/cm’. Calculate CPIgm mpy and mmpy units. Y
> oR Ay
Q.6 What is dlfferentlalsagratlon corrosion? Describe; differential aeration | 7 | L2 [ CO3
corrosion with suitable ¢ examples.
{ j} r4
' &
Describe sacnf'cnal anodic method ofcorrgflon control with example. 6 | L2 | CO3
AL A\
What i \e‘waste’? Describe the il effccts of e-waste on environment and 7 | L2 | CO3
huma; health
A\ ,.“{ ud ,r»e,,
- “Module — 4
Q.7 Mention the properties and application of nano sengs; ors and nano fibers. 6 | L2 | CO4
) A
b ———— A Y |
Describe the synthes‘;gf\ﬁ nanomaterial by Sgl £€1 method. Menugﬁ, its| 7 | L2 | CO4
- advantages and disadvantages. ,
. What are QLED\S?Wentlon their pro Ae_rti%s'%nd applicationsn’;@ 7 (12 CO4
*“:{% - éﬁ%\J
"OR~ 2
Q.8 What are. nano materials? Explﬁbn the following sizcgd,?gpendent properties | 7 [ L2 [ cOa
of nano materials: m
(1)\;” Surface area ., . 1f
[ii) Conducting’prdmgty 4
({6% (i)  Catalytic p::ﬁc}ty @gg
cg,_} ¥
b\ What are OLEDng'%MEntlon their propertne? and applications. 6 | L2 | COo4
¢. | What are per vskites matenals”{GWe the properties and applications of | 7 | L2 CO4
perovskltes mat}enals in optoelectr &nc devices.
J A " Module -5
Q9 |a. What are concenffation cells? The emf of a cell] 6 |L3] CO5
- Ags/ AgNO3(0. 02M)//Ag:ﬁ03(xM)/Ag(s) found to be 0.084 V at 298 K.
- Write the cell reactions and calculate the value of x.
| Wy,
b.  Describe the prmmple instrumentation and application of potentiometric | 7 | L3 | COS
- sensors for the estimation of Iron.
: ¢

“@'ay 20f3
4y,

0»\
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il LD
. What are reference electrodes? Explain the construction gnﬂ;';if’mking of L2 | CO5
~ Calomel electrode. (z}’
| s
OR N9 .
Q.10 | a.  Describe the principle, instrumentation and app]icamm of conductometric L3 | CO5
- sensors for the estimation of weak acid. %
. What are ion selective electrodes? Explai%éonstruction and workingof L2 | CO5
glass electrode. % é%’
| . .\ EN SN S
. Explain the principle and working dﬁé\ﬁ}orimetric sensors for the estimation L3 | CO5
. of copper.

'
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First / Second Semester B.E. Degree Exammatlon, Dec. 2024/Jan 2025

™
COMPUTER AIDED ENGINEERING DRAWING “%

= A
Fime: 3 Hours (COMMONTO ALL BRANCIIILS) de Marks: 100
(t"mi .b"/ Ve

&,
L S
S

I. Answer all four full question )
B 4

2. Grid sheets may be providcc&fg?"ﬁﬁ'}king preparatory skctchgé"*
»

AT &7. v MOdule—l ‘/\ 4

Q. No.

N AR %,
o - LY

Marks

A rectangular lamina 0f35‘m"m x 20 mm rests on I{P«'oh"”‘bne of its shorter edges. The
lamina is rotated about thc edge on which it rests till it appears as a square in the top
view. The edgeon vi;'hxch the lamina rests bcmf:\pdrallel to both HP and VP. Draw its
prOJcchomand iﬂlls inclinations to HPand VP

20

ﬂ\\\ ¥y Modulc 2 ﬂg:;\}’

A hexagonal pyramid 25 mm sides*of base and 50 mm ‘ax1§‘§lcngth rests on HP on

one of its slant edges. Draw the- prOJectlons of the ;}yramf “when the axns,appcars to
@’

VP at 45°. \ '
be inclined to VP at 45 i&z\m i A,

30

¢ Modulcz— 3M /Q ’

Following figure %l:[iWS the front andﬁtop’ \71ews of sohd pDraw the isometric
iy
projection of the solid. r’%/}},

’

‘{ < 15 4{&
f’?

“%

»
&4 ob

[

N -
PR, 4

25

%) , Module -4

A cube of its side 40 mm is,;\"c(”;[;};ng on HP with its base on HP such that one of its
vertical faces is inclined atﬁg‘b(.j:”‘lo the VP. It is cut by a section plane perpendicular to
VP, inclined to HP at an afigle 45° and passes through the midpoint of the axis. Draw

the development ofthie lower lateral surface of the cube.
A, b

25

Name

Examiner 1: Examiner Z:
! /'Q, Name: Au/@!-_@ ﬁ

ignature: Signature:
e *"wr;*‘ i SZ-“’. ’

F

B
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COMPUTER AIDED ENGINEERIVG DRAWING
Time: 3 Hours (COMMONTO ALL BR ANCHES) Max. Marks 100

W) Ao ‘\‘ a

Note: 1. Answer all four full question T o 3
2. Grid sheets may be provided for makifig preparatory sketches  »

(— ‘Module 1 T
Q.No. | (| N Marks

face of the lamina

is inclined at 30° to HP and’ lhe dmmeter passing throug',h the comer on which the 50

L lamina rests on HP 1s mﬁmed at 45° to VP. Draw;x,ts_i top and front views in this

H & ¢
position. Ve, 5 £

A circular lamina of 30 mm dlameter Tests on HP such that thc sur

Modulc;—"\Z k4

A pentagonaprramxd 25 mm sides of base and 50 mm axis length rests on HP on

;‘_T—__‘
,)-.

% 5

&

one of its comcrs of the base such tha{ the two base edges contammg the corner on

i

™)
which it rests make equal inclinations, ‘with HP. Draw the,projectlon of the pyramid 30

clmed to
Ny

(]

when the axis of the pyramid is irfclined to HP at 40\351 appears to be
R :9‘ . n.
VP at 45", AN R, N AN

" \Iodule, 3 “:/ R 4
Ve Ay,

Following figure shows the front and 51de vxews of solid.. Praw the isometric
HQ '*m\f%
projection of the sohd ,
Y
‘?‘K‘? & .} D‘(,‘:
mq 7 J , T
A, - L 8 -
v . 25
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R “«Module - 4

A square prism of base sides 30“mm and axis length 60 mm is resting on HP with all
Yy

the vertical faces equally mclmed to VP. It is cut by an inclined plane 60° to HP and

perpendicular to VP and is passmg through a point on the axis at a distance of 50

mm from the base. Obtain the development for the truncated portion of the solid.
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First Semester B.E./B. Tech. Degree E \.lmlna(lon ‘Dee.2024/Jan.2025

Mathematics - | for CSE Stream

Time: 3 hrs. RN Max. Marks: 100
Note: 1. Answer any FIVE full questions, (Im()sm}( ONE Sull question from each module.
2. VTU Formula Hand Book is p('rmtrted. y " A
3. M : Marks, L: Bloom’s level , C: C'nursc outcomes. X T
o ..\ »
Mndule—l > ML | C
&
Q.1 |a. Fmd the angle between the curvcs r— T andr= b‘f' % 6 | L2 | COI
, l+cos0 1= tos0
b ' Find the pedal equations oflhg.curve " =a"cos(m0). 7 | L2 | COl
C. | Determine the radius oﬁtii;rxfhture of the curve r*sec(20) =a’. 7| L2 COl
ERY OR R
gl do =
Q.2 |a. Wlth usual notatlon\prove that tan(burd— " 8§ | L2 | COI
AT, r .{,A
1 ™) - Y : T
b.  Show that,langcnfs to the cardioid r:a(l‘-+~c050) at the points 0:5 and [ 7 | L2 | COI
i = —32 are respectlvely parallel and perpendlcular to the initial line.
c. Usmg*&modern mathematical,, tcgol wnte a programme/code to plot| 5 | L3 | CO5
r=2/cos26|. 5 O )
(‘A’\ Module — 2 f"}"w’ LRy,
Q3 |a Expand v1+sin2x asMaclaurm $ series up,to fourth degree termsém“”* 6 | L2 | CO1
b. Ifu—f(y z,z— xxf—y) prove that —{-’ﬁ”‘—ag-ﬁﬂ-0 (&" 7 | L2 | CO1
| £ & = oz .
c. Compute J =2 -a-(-—f—yi—l for x =pcos ?3} psin ¢ and z—&“}‘ 7 | L2 | COl
| . O(p,(b,l) LN
/'/: *rn OR K%’%
vt u
Q4 |a. ’ If u=2® "™ f(ax - by), pggvegEhat ba—+aé~y—='2abu‘ 8 | L2 | Col
Vo , Cu f y—X zZ—X
(P vethatx—+y h«z ——O foru < [p=——, 7 | L2 | COl
: ?.-’. / xa}’ oz (Q\% Xy xz )}
¢.*| Using modern ;mathematlcal tool wn}e a programe/code to show that | 5 | L2 | COS5
J u,, +u,, =0, gwen that u=e (xcosy ysiny).
¢ '\ Module 3 .
| NY -
Q.5 | a. | Solve |:y(1-‘+’° J+cosy}d:)+[x+logx xsin y]dy 0 6 | L2 | CO2
b. | Show that the curve xm-\-4a(x+a) is self-orthogonal. L3 | CO2
c. | A 12-volts battery connecled to a series circuit in which the inductance is | 7 | L3 | CO2
% henry and rcsgstance 1s 10 ohms. Find the current ‘i’ if the initial current
h’%’*
1S Zero. o),
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OR
| / dy — 30 "
Q.6 |a. Solve Xy =Xy o &/ 6 | L2 | CO2
X A vf\‘
b. | Find orthogonal trajectories of the family " cosn0 =a>™ 7 | L3 | CO2
€. Find the general solutions of the equations (px~dy)(py+x)—a2P by| 7 | L2 | CO2
. _______chducnw into Clairaut’s form by taking u = x ,\v y |
Module — 4, ®, } ___.______,"*k
Q.7 | a. | Find remainder when (349x 74><36) 1S diVi_ded by 3. ,{ 6 | L1|CO3
b. ' Solve linear Diophantine equations 13x +17y =5. g\ 7 | L2 | CO3
c. Solve the system of linear congruence x=2(mod3), x= 3/(mod5) and | 7 | L2 | CO3
- x=2(mod7), using remainder theorum e
- % JOR AN
Q.8 | a. Find the last digit in 7'*. * 12 o 6 | L2 | CO3
b. Solve vx+6y—1(mod7y €= e 7 | L2 | CO3
4K+3y=2(mod7) "g &
¢. | Find the remainder when 7'*' is divisible by 13. ™ 7 | L2]CO3
- Module -5 »
Q.9 | a.  Solve the system of equation by using Gauss-JOrdan method. 6 | L2 | CO4
X+y+z= 9v2x+y—z—0 x+5y+72—“52
b. For what walues A and p the/system of equations, x+y+z=6,| 7 | L2 | CO4
x+2y+3z—10 x+2y+Az= p,c’l'ms (1) no solution , ,,(n) a unique
solution and (iii) Many solutiops® NN AR . d
¢. | Using power method, find the largest eigen value and correspondmg vector | 7 | L2 | CO4
of the matrix, f’\j A
| o N <y
6 -2 2] 3 ? s =
A=|-2 3 | A 3 ~
| » ‘\/..{7 e
2 _1 /“:i.v . . \”x f{‘t%\v
) OR®, ® o
=) @791‘ 92 93 94 95
)
| & Lo |92 93 94 S5 96
Q.10 | a. | Detir;rfn{le "the rank of the matn?;A— 93 94 95t '“96 97 . 8 | L1 | cod4
: D ' N4 94 95 g6 97 98
1 V4 ‘4“‘-';333;}
< N, 95 96,97 98 99]
b % Using the Gauss Seidel iteration 4 method solve _the equation | 7 | L2 | CO4
" 27x + 6y - 2—85 6x+15y+2z 72 x3ry+54z—110 Carry out four
| iterations. rﬁJ A&
c. | Using modern\mathemallcal tool,’\wnte a program/code to find the largest | § | L3 | COS
J (%, oy,
| N 113 2
eigen value'of A =|1 5//1 by power method.
3 & I
"l - Y de g de S %
¢
CY
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First Semester B.E. /B Tech. Degree xammalion Dee.2024/Jan.2025
Mathematics - | for EEE Stream

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, clum.smg ONI SJull question from ¢ach module.

2. M : Marks , L: Bloom’s level , C: Courscml'mlcumcs ¢ %y
3. VTU Formula Handbook is permn;ed.‘j Af“‘\f;‘n
Module-— 1 P M| L | C
Q.1 |a. i With usual notations , prove thattall(b— r. d/ ;\/%’7 6 | L2 | COl
AN
‘[ { ’}\ "

b. | Show that the curvcs =pa(1 + cos0) and r = b.(1¢ cos0) intersects | 7 | L2 | COI

1 ;
| orthogonally. f‘“‘" Ly hﬁf&,

Ifu= thenf yve that x — a‘%‘z 7 | L2 | COl1

§hc¢w that the functlog“’ft} Y— x + y3 fg?g l is minimum at the point | 7 | L3 | CO1

i, 1)

i\ ﬁ 2 @"
OR ,»

Q4 |a Ifu_xyfx;%/ and w= }/%enshowthat 7| L2 col
oz

€. | Find the radius ofhurt'aturc for the curve x +f 3dxy at (3/ 3/) 7| L3 | COl
| @’a Kgm
Q.2 |a. | Find the@g@l}) of intersection between curves 7 | L2 | COl
;r"=z.1"<‘((:qsn and r" = b"sin n0. ‘ 4
? s\\ 4 A& AC%
b. | Find the pedal equation of the cury® r™ = a™ (cos m0 +(§fﬁ?1ﬁ@). 8 | L2 | CO1
2 y
c. | Using modern mathematical tool, write a p[ogm to plot the cﬁ‘ty,e 5 | L3 | COl
J r = 2|cos 20|, o
s Module £2y a ¢
Q3 |a. j Expand \/l+l$%k % using Macla is%genes expansio ﬁbto terms | 6 | L2 | COl
| containing x% m‘j%
|
b. :

%

&
X,y,z <&
| %—?f . T
b. | Find the extreme valu&of the function f(x, y) = x’ + y -3x— 12y + 20. 8 | L3 | CO1
¢
c. | Using modern tgﬁl#ynte a program to evaluate S | L3 | CO5

| l|m(l+/T®
[{% 1 of3
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f -1 -z
i
|

\ RS
e : Q
J ,

S ok O <
Prove that BS % @M

m+n
‘Q“J% 7>~ OR &

Q.8

S8
St 8

"&«»\

> <A ’ .
a."@/ﬂuate E x2 + y‘zh&(‘% by chang:§%) polar coordinates.
%

b. Evaluate f ?/Cote do by expreii;&%d%p terms of gamma functions.

7| L2

7 L2

6 | L2 | Co3
7| L2|cCo3
7 | L3 | CO3

‘ Usmg double integration find” the area between the curves y’ = 4ax and
‘ x* = 4ay. Qégv

‘ { ‘?‘:.‘)
Module - 3 00
i~ 5 e
Q5 |a. Solvcxﬂy-+y=x3y(’ o v/ \
" | “dx R ® \
& W) L .
- 7|L3 '
b. Fmd the orthogonal trajectories of a f"xmlly{of c\rVes y 1 - cos0. p C0o2
. Solve xy(p?) - (2 +y)p+xy=0, A\“):x 7| L2|CO2
s om0 p
Q.6 Solve (X" +y +x)dx + xy dy 50, ¥ Y 6 | L2 | CO2
fr"\. R 7) .,,,‘:\
b. | A series circuit with re51stanceR inductance L and electromotlve forceEis | 7 | L3 | CO2
0overned by the dnfferenttaL equation Ld ¢ TRi= cE\ where L and R are
' constants and initiall \lge‘ current 1 is zero Fmd the. c\nent at any time t.
¢. | Solve (px — ) (p W X) = a" p by reducmg{gto Clairaut’s form using the | 7 | L2 | CO2
substitution X = S and Y = Y. 4
: Module- 4
‘%-o-l Z X+z 6 L2 CcO3
Q.7 |a. Eva’ltgte j I I (x+y+2z)

COo3

COos3

20f3
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Module — 5 *\3
a. Find the rank of the matrix {m 6 | L2 | CO4
2 -1 -3 -1 - ®

1 2 3 -1
e N
1 l 1 _] O -
- P <&

b. Investigate the values of X and p suéh‘that the system of equations , 7 | L3 | CO4
|x+y+z=6, x+2y+3z=10 anc x‘-(2y+ )\z—pmayhavc&
1) Unique solutlon i) lﬁlle’%olutlon iii) No solut ion.
i

| Using Raylelgh s power me&hod find the largest eigen value and the | 7 L3 | CO4
:correspondmg eigen v to&of the matrix :

e -2 2 AN
1|-2 3 -1 ib'y\taﬁ(ing [1,1,1]" asinitial ei‘gerf vector.
L2 -1 3¢N

l 1\ ¢ N

-

OR |
Q.10 | a. Solvcxb"??;mg Gauss — Jordan methe;i x+y+z=9,x & +3z=28 and 7 | L2 | CO4

Vi -
3

b. | Solve by using Gauss — Sledel,method
20x+y—2z=17 , 3x?§0‘¥ z=-18 and 2x 76%/?-@202 25.

8 | L2 | CO4

Using modern mathematical model, write a(ptogfam to test the con51s' ency | 5 | L3 | CO5

“ of the equatlon:ggzy z=1,2x +%%~2’and 3x+ 3g‘l 1.
& &
A
< *
&
(\f @ G wsd
D § "
fké 3 0f3
£



BPLCK105B

First Semester B.E/B.Tech. Degree E‘mmmati;on Dec.2024/Jan.2025
Introduction to Python Programmmg

Time: 3 hrs. Max Marks:100

\m

Ry
Note: 1. Answer any FIVE full quesnons, clw()smg ONE full question from each module.

2. M : Marks , L: Bloom’s level,, ? Course outcomes. ’(e’;\
™, (%4 o\ b 4
(Module - 1 ~ M| L| C
1 | a. | Explain basic data types likg_;}\nt,, ﬂoat double and string withran example. 6 | L2 | COl
Differentiate between localscope and global scope. o 6 | L2 | COl1
¢. | Develop a program to caledlate factorial of a number. Program to computc | 8 | L3 | COl
binomial coefficient (Gchn N and R). ¢
. A
{ \J\\ » »(< Wy,
A2’ OR Ry

2 | a. | Define functlons)Explam how to pass paramcters through the function with | 6 | L2 | COl1
return statement. e

b. | What |SreXCept10n'7 How exception are Tandled in python" Wnte aprogramto| 6 | L2 | COl
solve divide by zero exception. *‘”:g%

c. | Develop a program to generate Fibonacci sequence éiength N). Read N| 8 | L3 |CO1
from the console. ,(‘Q\,M o 2N

Y 9 >
Vs ¢ MOdUléegl'}\z d

~

3 | a. | Explain Augmented‘Sh“Ort hand assignment op€rators with an example. L2 | CO2

b. | Explain dlﬂ'erentety_ge of methods llke S}d( ), Remove( )‘*’sbﬁ( ),pop()in| 7 | L2 | CO2

python programrping list. .
c. | Develop a program to find mean, vénance and standard\deylatlon 6 | L3 |CO3
= o o o
oy, =, WOR =
4 | a. | Explain‘set( ) and setdefault(,)’method in dictionary” 7 | L2 | CO2
Def/élop a python to print ardd’of rectangle. X Y 6 | L3 |CO2

c: ,,Deﬁne pretty printing{How does pretty prmt\wc‘irk in python with an example. | 7 | L2 | CO2

m& 174 P

D&
Q*&ﬁ ,'#;aed;)dule—:i

5 | a. | Explain usefdl’ string functions like :™ 8 | L2 |CO3

1) Capitalize ‘ 4
11) Count ‘§

i11) Find
iv) Lower

v) Upper A

vi) Replace with amexample

Y4

b. | Develop a python™code to determine whether given string is a palindrome or | 6 | L3 | CO3
not a palindrome:

c. | Explain : l)fsalpha i1) isalnum  111) isspace( ). 6 | L2 | CO3

&\

- 1o0f2

e
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OR o)

6 | a. | Explain OS path module with an example. b 6 | L3 | CO2
b. | Explain the concept of file path. Also discuss absolute and relative file path. 8§ | L3 |CO3
¢. | Program to print of multi clipboard with appr_qpnatc message. e 6 | L3 |CO3

X ) “*:\:\3
Modulc — 4
7 | a. | Develop a program to backing up a/given’folder (folder in a cumrent working | 6 | L3 | CO4
dircctory) into a zip file by using relevant modules and suitable. facthods.
b. | List out the ditference between qhutﬂ copy( ) and shutil.copythrec( ) method. 6 | L1 | CO4
c. | Explain the following file opumuom in pythons with suitable example : 8 | L2 | CO4
i) Copying files and foldefs } 1y
i1) Moving files and folders 4 Q
111) Permanently dclctmgﬁYc)b and folders. )
s .
A OR Ny

8 | a. | Briefly explain‘assértion and raising a exception. 8 | L2 | CO4
b. | List out the benefits of using logging module with an example. 6 | L1 |CO4
c. | Write a function named DivExp wluchttakcs two parameters a bandretumsa| 6 | L3 | CO4

value C(c%)a/b) Write suitable assem(gn fora 70 in functlon‘l%;vExp and raisc

an exception for when b = 0. DL%\]OP a suitable progg‘am%hxch reads two

values from the console and calls & function DivExp. (}% <

<& 5 X
P Module - §
9 | a. | Define a function which Bak'és two objects re rt.ggmng complex numbersand | 8 | L3 | CO5

retums a new complex number with a ad%‘pn of two com {éé numbers.

Define a suitable class *complex’ to represefit,the complex numger Develop a

program to read N(}gﬁ> =2) complex@%m and compute th tieaddition of 10

complex numbers. - ‘ ’
b. | Explain the.éoncept of inheritancefwith an example. (r\y 6 | L2 | CO5
c. | Explain %\ str_and the_in 1t_("rvhod with an cxam;é:lé. 6 | L2 | COs5

PR ﬂ% OR L -
10 | a. | Define a class and ob_]ect construct the clas& alled rectangle and initialize it | 8 | L3 | CO5

mm}n height = 100, wndth = 200, starting pomt as (x =0,y =0). Write a

progmm to display tﬁ%\centre pint co-ordinates of a rectangle.
b. | Briefly explain the printing of objects¥ith an example. 6 | L2 | COs5
c. | Differentiate gpétator over loadmg@nayoper'ltor overriding in python. 6 | L2 | COS

:\% )
{% MEEEEEE
R .
&
R 4
{% 2 0f2
)
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First Semester B.E./B.Tech. Degree Examlnatlon Dec.2024/Jan.2025

Introduction to Cyber Securlty

& o f“o
/ »

Time: 3 hrs. .f\:" J Max. Marks: 100
Note: I Answer any FIVE full questions, clmosm}: ONE Sull question fmm eacll module.
2. M : Marks, L: Bloom’s level , C: Coutfse outcomes.
Modulc—‘l’ e ML | C
Q.1 | a. | Define Cyber Crime. Discuss about’ ‘cyberpunk and cyberterronsm ? 8 | L2 | CO2
; ( i\“ f R,
b. | List the various cybercrime agamst property and against organ;gatlon. 6 | L2 | CO3
{ £ ‘A’
c. | What is Spam? Interpret the difficulties involved to control spamming. 6 | L3 | CO3
! R A
2:;\‘ R ¥ OR ‘“\\,‘
Q.2 | a. Who are cyber cnmmals? Discuss three groups of cyber criminals. 8 | L2 | COl
; Y. 4
b. | Discuss about' cyber defamation in detail. \ A 4 6 | L2 | CO2
! "\ ~:/' “h\
c. | Explam credlt card frauds and pornographic offenses in detail. 6 | L2 | CO3
| L, A
A Module — 2 A
Q.3 | a. | What is Social Engineering? Discuss human based SOCIalEnglneerlng with | 8 | L3 | CO2
a suitable example. 0 e "\ r
A, o O
b. | Explain the different pq};?l‘ies involved in plar(lﬁl\lir:g beer crime. %%z\' 6 | L2 | CO3
t B
(]
c. | Explain any six ti s”for safety and security”while usin coﬂl uter na| 6 | L2 | CO3
p y - Ai Y J g g np
| | cybercafé. ™y %\%
i ,p»?""i = w‘} )
OR 7
Q.4 |a. Define Cyber Stalking. DISCUSS ‘the difference between, types of stalkers. 6 | L2 | CO2
| ) 2N ) =
b. | Whatis an attack vector? é)escﬁbe various attack véctors in detail. 6 | L2 | CO3
| AT rﬂ"} ﬁ ¢
C. *’ Def' ne Botnet. With a%eat}dlagram explau{ How botnets create business. 8 | L2 | CO3
‘,s,L A4 f#‘ P h‘i‘é
= A Module - 3
Q.5 |a. \ What are software key loggers and%@nfl Key loggers? List the advantages | 6 | L1 | CO2
ofusmg ant{’ key loggers. 004
A, ’.V i \ 4
i, h\"‘w!,\
b. | What is Proxy Server? How does proxy server is operated? Explain it’s | 8 | L3 | CO4
51gmﬁcance : bw\
c. | What is Malware? Discuss ‘how Malwares are classified. 6 | L2 | CO3
i
N
R Y
oy, [ of 2
~ &
Loy,
‘*{2%\': i
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OR A%

Q.6 |a. Discuss various types of viruses categorized based onattacks on various | 6 | L3 | CO2
elements of the system. RNy
b. | Differentiate between weak and strong password. » 6 | L3 | CO3
G
c. Discuss 4 types of DOS attacks. X 8 | L2 | CO3
‘ 2 ° e r
Module=4" N
Q.7 | a. Explain the different methods used by .the Phisher to reveal personal 10| L2 | CO2
- information on internet. & 3 ’
b. Discuss various types ofphlshmg scams. 10| L2 | CO3
| A at‘/ “
. ¥ OR ’
Q.8 | a. | How does phishers use vaglous techniques to launch phxshmg attacks? 6 | L3 | CO2
™Y RN
b. { Discuss any 5 dlffgent types of identity theft technique. 10| L2 | CO3
| A28 . ¢
c. | Explain the myths and facts about identity theﬂ, 4 | L2 | CO4
| 4 o
’f\t\ \) Module 5
Q.9 |a. Explain the ‘guidelines to be followed during the digital evidence collection | 8 | L2 | CO2
 phase N L
| *“"b\ ,gj's”\v?
b. | Discuss how fake email is detected using forensics andlysw 6 | L3 | CO3
| /33 ) 4&
¢ 1 What is chain of custody%Explam with an examﬁpfe) 4\@ 6 | L2 | CO3
L ""\’\\, O, ® v )
& OR (™~ Ve ¢
Q.10 | a. \ With a neat dlagram explain digital forensics life cycle mode[ Y 8 | L2 | CO3
| AR o ° A
b. | Describe the need for concept of computér forensics. ’ 6 | L2 | CO3
[ P “ e
c. 1 Explairi nletwork forensics in, deféll q:.} ¥ 6 | L2 | CO2
| e 3 P 4y
4&\”‘;\‘ ke de kK Py
4 “~\L ‘ftv’
*{”E’: x mﬁg} P4 A
Ly & P
h"xl d}? = "f‘é“au,}f
= Ty
i“%‘:\?‘@» \‘/ ;,V @k:"\’b}»
b 4 »
&
o
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First Semester B.E/B.Tech. Degree Lummatlon Decc.2024/Jan.2025
Introduction to Electromcs and Communlcatlon
Time: 3 hrs. Y, de Marks:100

Note: 1. Answer any FIVE full questions, choowng ONE full question.from each module.
2. M : Marks , L: Bloom’s level , C:*Course outcomes. '

3.VTU formula Handbook is permitted. A
Modulc -1 M| L C
1 | a. | With aneat block diagram, e‘(plam the DC power supply, » 6 | L2 | COl
b. | With a circuit diagram cxplam the working ofvollagc doublcr 6 | L2 | COl
¢. | With circuit diagram.and- Waveforms explain the workmg of Bi — Phase full | 8 | L2 | COl
wave rectifier. ¢ "% P
/ OR )
2 | a. | Draw the cxrcmt onener diode voltage regulator and explain the working. 6 | L2 | CO1
b. | What is. multlstage amplifier? Show: Nthat the overall gam of multistage | 6 | L3 | COl
amplifiéris product of individual stage gams 7
c. | What are the ad\antages of negative feedback? Denve "an expre551on for| 8 | L3 | COl
overall voltage gain ofnegatxve feedback amphﬁer( f 74 LNy,
A 9 b o \, 4
. ;\"3\\4 !j«" Ay \\ o
g Module—z‘\ .
3 | a. | State and explain condmons for oscillations (Barkhausen cr1tenon) - 6 | L1 | CO2
f" LY ,\‘,\, ,Fv\\“
b. | With circuit dlagram explam the workmg Wein Bridge Osc1llator 6 L2 | CO2
c. | With 01rcu1t dlagram and waveforms, explain the workmg of single stage | 8 | L2 | CO2
astable muthwbrator circuit usmg op amp. ),
.\’\ 4 "
/‘r):“ & i ‘ OR Py B,
4 | a Llst the ideal charactenstlcs St op-Amp. AN 6 | L1 |CO2
b. | Explain the following parameters ofthe op-Amp 6 | L1|CO2
i) Slew Rate u) lnput offset voltag,e m) CMRR.
c. | How op-Ampican Be used as an mtegrator with necessary output equation and | 8 | L2 | CO2
waveforms.
¥
o H\ ’ Module - 3
5 [a | 1) Convert(256.45)0=(":=(Drs 8 | L3 |CO3
i) Find x if (211)« = (l 52)g
iii) Convert (357 14)3 =(Mie.
b. | Subtract (10]0 | 1)2 from (1001.10); using 1’s and 2’s complement methods. 6 | L3 |CO3
c. | State and prove DeMorgan s theorems for 3 mput variables. 6 | L2 |CO3
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()R
6 | a Sunphly the following Boolean expressions : 6 | 14]CO3
i) £, =Xy+xy+ Xy A
Nh=x®y®z.
.;#'_,\ d
b. | Obtain canonical forms of the l()llowmb B(mlcdn cxpressions [SOP lorm] 6 | L3]CO3
i) f=a+be N\Y AN
i) f = xy+ Xz, ¢ 1 ’
, y
Ay ¥ £
c. | Design full adder circuit using Basic gates. % 8 | L3 | CO3
L N
'41)’ “0/? Dy ) . ]
-~ 8 ’/,; Module -4 °
7 | a. | Define Lmbcddcd system. Differentiate bLtWLLn cmbedded systems and | 6 | L1 | CO4
gencral purposc computm[, system., Ay
7
b. | Draw lhc’bk)(,k diagram of cmbcddcd systum and cxplam the different | 6 | L2 | CO4
4 f W
clcm(,nts AN 4,_'{‘% ,vf*’y
. lefcrcnlmu, between : e d 8 | L1|CO4
i) Microprocessor Vs Microcontroller : (‘\L"’} /\(4%’
i) RISC Vs CISC. Ay ) =,
L, > Ao
S OR (T ® i
8 | a. | Draw the block dldgrgnm of instrumentation qys’fcm and explain. ,0\? 8 | L2 | CO4
A\
b. | Whatis seven 5Lgmcnl display? Fxp]am ﬂ1e typcs of seven segment display. 8 | L2|CO4
c. | What are scnsora. and Actuators? "uﬂ,j ¢ 4 4 L2 | CO4
<N M(Jdul(, -
9 | a. | Witha neat dlag,mm cxplam;nodcm commumcatlon “system. 6 | 1.2 |COs5
b. Dcf'mc modulation and cxpla'm amphtudc modéxlatxon with waveforms. 6 | L.2]|CO5
Y
£ th ‘Wwaveforms, cxp]am ASK FSK and GB}_{ modulation techniques. 8 | L2 |COs
b, ‘*“5 OR ¢
10 | a. | Explain dlfTchnt,;nodcs of radio wavc brppdg,dtlon 8 | L1 |COs
b. | What s muLgnPlcxmg. Explain »x,,dlffc,rcnt types of multiplexing in| 8 | L2 | COS5
communication system. &
¢. | Explain the advantages ofdjglta] communication over analog communication. | 4 | L1 | COS5
ARM
ﬂ{\ P * K %k %k sk
’f b4
o,
h/ﬂ. i
£y, 20f2
31&@.%;"‘*
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First Semester B.E/B.Tech. Degree Exammqtlon Dec.2024/lan 2025
Introduction C Programmmg

Time: 3 hrs. R M'l\ Marks:100

Note: 1. Answer any FIVE full questmns, choosmg ONE full quesnon from eaclh module.
2. M : Marks , L: Bloom’s Ievel \C: Course outcomes. :

i“

"Module — 1 & M| L

C
1 | a. | Classify the different typesof input devices and bneﬂy explam the wireless | 7 | L2 | COl
keyboard. o )
b. | Provide a brlefexplanatlon of the process mvolved in compiling and executing | 7 | L2 | COl
a C program. R LRy,
c. | Explain the structure ofa C program, emphasxzmg key components throughan | 6 | L2 | COl
example. ¢ ‘\,\;;{ "
&\ ’ OR Y Ly
2 | a. | Describe the working of a printer and:an LCD monitor with detalled sketches. | 8 | L2 | COl
b. | What are variables? Provide an example of how tof declare and initialize a| 6 | L2 | COl
variable of different datatypes™, A Ny
c. | Write a C program that *"demonstrates the use, of standard libraries' for | 6 | L3 | COl
performing input and output operatlons Vg °
\V
Ny Module 2 A"
3 | a. | Classify the different types of bmarykoperators supported in C language. | 7 | L2 | CO2
Explain the bitwise loglcal operator. ', ) .
b. | Usea SImple if statement to determine if a person’s age/qualifies themtovote. | 6 | L3 | CO2
c. | Write a C'program to calculate the sum of numbers &q;:\ ‘m to n. 7 | L3 | CO2
e e 1 N
.’ %) OR y,
4 | a. | Wrteya program to convext integer number, mto ‘the corresponding floating- | 6 | L3 | CO2
pomt number. e A,
b. | With a flow chart, explain the concept fswitch statement. 7 | L2 | CO2
c. | Write a C program to generate the pattemn, 7 | L3 | CO2
* ( Ty e\
* % Ay,
* k ~ 7
* %k *x &L 1"!'—;.7,,,
gy,
. ) Module — 3
5 | a. | What is the different: between a function definition and a function prototype? | 7 | L2 | CO3
i [llustrate with an examplc_ code.
b. | Name the different'storage classes and explain the purpose of cach. 6 | L2 | CO3
c. | Write a program’ to read n numbers into an array from the user and arrange | 7 | L3 | CO3
them in ascénding order using bubble sort.
oo ),

1 of 2
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OR \ ¢, )
6 | a. | What is the difference between pass-by-value, and pass-by-reference in| 7 | L3 | CO2
function arguments? Provide an example for each:
b. | Write a program to call the function addNumbers(int a, int b) with values a= 5 6 | L3 |CO3
and b = 10. Print the result inside the man function. R
c. | Writea C program that prompts the user:to enter a key element and searches 7 | L3 | CO3
for it with in an array. The program should return the index of the élement if
found, or indicate that the element 18 not present in the array N
Module 4
7 | a. | Write a program to transpose the elements of a 3 x 3 matrix. 7 | L4 | CO3
b. | Write a C program to input'two m X n matrices and. then calculate the sum of | 8 | L4 | CO3
their corresponding elements and store it in a third m X'n matrix.
c. | State the importane‘e"ot; Using scanset to read a sng Explain. 5 | L4 | CO2
.&‘.\ & OR
8 | a. | Write a program that multiplies tow 2D mamces 10 | L3 | CO4
b. | Discuss the’ dlﬁ'erent functions ava1lable for reading and Wntmg strings along | 10 | L2 | CO4
with syntax or example code. 2
. fo
~ ¢ Module -5 " ‘«, 7S
9 | a. | Briefly explain string taxonommy:, {“Ema : Y 6 | L2 | CO5
b. | Write a C program to calculate area of circle usingrpointers. N 7 | L3 | CO5
c. | Describe a structure to store customer mfom}aflon Jy R4 7 | L2 | CO5
A A @ <y,
N Y OR ,w\, » 5 °‘f'f‘é A
10 | a. | Write a program’ “to find the length”of a’string without usmg the library | 7 | L3 | COS
function. | ¢ R
b. | Define a pomter With an examplq sl}ow the declaratlon of pointers and their | 7 | L2 | CO5
m%em%m@vwmmawmwk ’%“
c. | Write the syntax and examplé to; declare a structure., 6 | L2 | CO5
Ve Vo D A
% s 7 ***:ﬁ‘ 4
by "),
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Second Semester B.E./B.Tech. Degree Examin’faéﬁbﬁ, Dec.2024/Jan.2025
Introduction to Python Programming

A ]
S

Time: 3 hrs. A \ Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosmg O\Eﬂlll question from each module.
2. M : Marks, L: Bloom’s level , C: Cg:lrse odtcomes. /4;.'
' Module =t 4  IM| L C |
' Q.1 | a. Descrnibe the following flow controlstatements in python programmma | 8 | L1 | CO1 |
(1) if Ve ». [ | = |
(11) else <‘ R, ¥ = ;
(i)  while {"1 N s\ g
' b. Write a function to calculate factorial of a number. . ¢ ' 8 L3/ CO1 |
| {1 LN | ‘ |
| ¢.  Define def statementsli@ﬁ"‘parameters. A | 4 f L1 | COl |
' - & s | [ |
f % r"""_} OR ~ ' {’
1 Q.2 | a. Explain the symax and control flow dlagrams for break and continue | 8 | L2 | CO1 |
‘ statement, 4\ ¢ \"‘5 | {
: ;- AN } E |
' ' b. Illustrate, lhe dissection ofpython promm -~ 8§ L2 CO1
E | ;.*m“\\ Y
[ | e. Descnbe the return values and remm statements. S % 4 4 | L1 ]| CoOl
| l Y & '&w, A~
/. Module-2 ™, 7 t;”**sy |

Q.3 | a. Read N numbers from the, console and create a'list. Develop a program to| 8 | L3 | CO2
print, mean, variance andstandard dev ation Withsuitable messages,

F | s " (n‘;a w L

E b. Summarize the sequence data types of python progranumna,;; Y 8 L2 | CO2

| gy F A‘qﬁxﬂ

! o B @

i | c. Compare and contrast dictionaries VS lists. ’ 4 |L2|CO2
A‘: l?y ; OR '@;x,:}. 7

Q4 |a. Develop a program to prmt IO“most frequently appearing words in a text | § | L3 | CO2
ﬁle, [Hint : Use dlcnonag;» with distinct words and their frequency of
foccurrences Sort the 1ctxonary in reverse\’érder of frequency and display
o dictionary slice of first/1 i] 1tems] L
‘b> Explain the slots. ofhc tac — toe board with its corresponding keys using | 6 | L2 | CO2
data structures in python programrmng

c. Paraphrase the workmg with llsts%m python programming. 6 | L1 | CO2
EN J Ao,
Y ., Module-3

Q.5 | a. Describe the Python stﬂn@ handling methods with examples : Split ( ), [ 10| L2 | CO3
endswith (), ljust (), cexiter (), Istrip ().

b. Summarize the process'ef input validation in python programming. 10| L2 | CO3
R 4
=
-~ 1 of2
X%, ’

. Ty,

Ny
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e . OrR =
Q.6 | a. | Explain Python string handling methods with examples : 10| L2 | CO3
[ Join (), startswith (), rjust (), strip (), rstrip (). A
b.  Demonstrate the process of copying and pasting $trings with pyperclip | 10 | L2 | CO3
module. R4
Module -4 "™, l
Q.7 | a. | Develop a program to backing up a giy,;n’“fo]der (Folder in a current | 10 | L3 | CO3
working directory) into a zip file by using Televant modules and suifable
methods. ) A
4‘5’&’?\ =
b.  Describe the file reading or writipg“pgoc’ess in python progrargrqing. 10| L2 | CO3
| o N 4 Rt
ADIOR %
Q.8 | a. Explain the process of comp‘;eﬁsing files with the zip file module. 10| L2 | CO3
b. Summarize the organjfiatjiéﬁof files using shutil rgsgglé'ff 10| L3 | CO3
| N ~
Cla Module-5 | ¢
Q.9 | a. Explain aboutlclassand objects. <% » 10| L2 | CO4
| A & 4 %h
b. | Explain purefunction and modifier. - 10 | L2 | CO4
" 4
P"AE"\'& /t
e\ 7 <OR Al
Q.10 | a. | Illustrate operator overloading;and polymorphism rjﬁﬁ*ﬁfthon with an | 10 | L2 | CO4
example. 3 o N "
s - A
b. | Explain _init_ and _str smethod with examples. %, % %X}m © |10 | L2 | CO4
| =Y A%
¥ * k k ok *ﬁ%w . &
ﬁ? . %K%
A &Y -
. &
£ v - o\
™ Q) d
Sy, 4 3
4 = d
¢ Ty
¢ AN
Ny
’
'
& <{%’
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&
=
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Que‘gtfio'n Paper Version : A

USN

First / Second Semester B.E./B. chh Degree Examination,
Dec.2024/. Jan 2025
Professional ertmg Skllls in Engllsh

) \ *
Time: 1 hr.] {"‘ 4 %& [Max Marks: 50
lNSTRUCTlONS TO THE CANDIDATES
’ g

("\ "4 M\ Y

1. Answer all the fifty quesuons “gach question carries E;”ne mark.

2. Use only Black ball pomt pen for writing / darkenmg the circles.

3. For each questlon, after selecting your answzr, darken the appropriate circle
correspondmg to the same question nm%ber on the OMR sheet.

R,
4. Darkening tworcircles for the same qu3§tlon makes the answer invalid.

SJI

’1\.
Dam-lgmg/overwrltmg, usmtffthlteners on the OMR sheets are strictly

Y
*« -
prohibﬁe AN mﬁ
1. Identify the correct phrasal verb “I need to 5my*§ld clothes to /ije space for the
new ones” ﬁu % \
a) thrown in % own off c)@thrown out - thrown up

2. Which phrasal verb.méans “to being to understand somethm g;;
d) Turnon

a) Catchon ﬁ b) Hold on oajc) Put on
3. Choose the co&gréét phrasal verb to 'Eggr‘np‘ ete the sentence;:

“I needutovq\’ this report bef@omorrow s meenng”
A A :
a) brlng up b) brxng out C) ’brmg in d) bring forward

4. What is the meaning of"qb“word “Caprlclodéa?
ﬁg) Friendly and outgom@ @b) Predictable and reliable

\c) Unpredlctable;dnd!ﬂnpms“’e d) Serious and solemn

' 4

5. Choose the c%?'ect deﬁmtlon of “O/quscale”

a) To clarify, ofelucidate @@ b) To confuse or obscure
¢) To enlighten of illuminate , d) To simplify or streamline
6.  What does the word “coggﬂt” "mean?
a) Weak or unconvm@’ing b) Clear, logical and convincing
¢) Indecisive or hesitant d) Fanciful or imaginative

&N
7.  Select the synggggn for “perfidious”.

a) Loyal b) Trustworthy c¢) Faithful d) Treacherous
’
A&:’é Ver—A-1of5
~ ¥



8.

10.

11.

12.

16.

17.

nces in the correct order : N
i) After brnakiqs*t he went for a jog

iv) Fmall)“"hc‘got ready for \\ork
d) iv.iii.ii. |

Arrange the following sente
i) He woke up early in the morning

ili) Then, he took a sho“ er
) i.ii. i, dv by diLdL iV c) i (ﬁ,, i .

\/
Arrange the following sentences to forma cohcmltpﬁraudph :
i) The company announced a new product launclf
ii) Customers eagerly awaited the rnkam\ " 14
i) The product received positive reviews from critics. M\fx
1v) Salus exceeded L\pLClﬂllOﬂS \f}

a) 1i,ii,iii, iv b) i ld.v:) T i v.i

-:{.)Simc don’t have enough u/r§é ‘to finish the project”.
¢) have Q}‘ d) enough

i, iv

Identify the error in the senten
a) she b) don‘\

Choose the correct sentenee ¢ ¢

a) The children is plavmglm the park yesterday

b) The children was [;]aﬁnn in the park yesterday=

¢) The children §8re playing in the park yesterday

d) The chlldre;%ﬁ%lavmu in the park \efterda\
N

v
Identify t,l)\e\é} or in sentence : “The prﬁ:’é‘of these shoes are too high”.
a) The ptice b) ofthese shoe§  ¢) are d) too high

Chod$the correct sentence : PAN
a) She enjoys to read P b) ?eﬁibys reading

c) She enjoys reads e@ d) %hnjoys read

Identify the error in thefsentence : “He speakyFrench fluently™.

a) He b) Speak (33 French fluently # d) No error
Choose the corre?.t ntence : N‘
a) The news aﬁmerestmv %

¢) The news Wwere interesting

b) The news 15 interesting
d) Thegnews an interesting

W}ncll%ftmn best completefﬁ] Tollocation : * a shower™?
a) Tal\e ) c) Make d) Have

cntify the correct colﬂﬁon : up of coffee™.

%ﬁiﬁ Make (1 Do ' ¢) Have d) Take

18.

19.

20.

21.

’ .
Choose the co reﬁﬁllocation o a decision”.
a) Make % b) Do c) Have d) Take

What is th%nmction of ©
a) Their b)

hey are™?
ey re c) There d) Theres

Choose the correct contraction : “He will not” becomes

a) He’ll not @ E) He’s not ¢) He won’t d) He’sn't

Identify the contraetion of “could not™:
a) Couldn’t , b) Could’'nt ¢) Could’not "d) Could’ nat

Ver—A-2o0f5



22,

24.

26.

27,

28.

29.

30.

31.

32,

_ BPWSK106/206

™
\

r‘"ﬂ\,
Ty, A i’
What is the correct word order for a question in English%, ‘{“
a) Subject — Verb - Object b) Object® Verb Subject
c) Verb — Subject - Object d) Sulgi@ Object - Verb
»

Which option represents the correct word ordd‘;fﬁn affirmative sentence in English?
a) Subject — Object - Verb b) %bjccl Verb — SubJect

¢) Verb — Subject - Object ﬁ\d) Subject — Verb - Otyect

Choose the correct word order for a m.gatwc sentence in English : %’

a) Object — Verb — Subject (&7‘ J  b) Subject — Verb Object
¢) Verb - Subject - Object %,@ d) Subjcct—O’E)?ect-Verb

Identify the correct word orﬁﬁ‘)r a sentence in Engllsh
a) She eats breakfast evety mornmb b) Ea

Q he breakfast every morning
c) Every morning she@-’s ‘break fast d) E

t breakfast she every morning

Choose the senten@;i}l the passive voic L4

GE
a) She wrote a(@er b) A letter was written by her
c) Sheis wrmng a letter d) She has written a letter

,

Choosedh entence with the corrg\g(;yansformation into rgported speech :
“He saxh will help you tomorrgy &

a) He sald that he would help r‘?fe\i e next day

b) He says that he will help. meé tomorrow (ﬁjQ

c) He said that he help mé'ﬁq,morrow
d) He said that he helpe‘a%e the next day .
¥ 4
Which part of the s nténce contains the erro
“The children i is;playing in the park ye, térda
a) The chlldreﬁ’% b) is playm% c) in the par d) yesterday
’

F 4
Find thigrg,r in the sentence 4@-{5 are a talented misician”.
a) F b) ar c¢) ataleénted musician d) No error

2{\}6 is the error in t % : “The cake,is laymg on the table”.
The cake b} i laym;D e}

on the table d) No error
Identlfy the corrt@sage of the wo “Whom
y

a) To who shall I’address this lelteg

b) Whom did you see at the rty?
¢) Whom ggsponmble for this: e

d) Whom wants to go to the concert?

“She said, ‘I have already,finfshed my work”.

a) She said that she alf®dy finished her work

b) She says that she has already finished her work
¢) She said that ad already finished her work

d) She says tb@he had already finished her work.
,

@ Ver— A -3o0of5
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Choose the correct transfog tlon of the sentence into reported speech :

AN



33.

37.

38.

39.

40.

41.

42,

43.

~. BPWSK106/206

Select the option with correct subject — verb dg,rccmug\t“ﬁ} 4
a) The committee is discussing the issuc now (53
L]

b) The committee are discussing the issue now la ®
¢) The committee were discussing the issue nQW‘ J
d) The committee am discussing the issue now ’}V

&

My, *®

Identify the error in the sentence : “She don {vac enough time to I'rush the project”.

a) She b) don’t " ) ¢) have é*z«»d) enough
’ﬁf y ¢

Which part of the sentence contaifdithe’error b,

“The children are playing in 1he’“ar}< yesterday”. \ Y

a) The children b) arg p{aymg c¢) inthe pa"]m d) yesterday
0¥ ¢

IFind the error in the scntcn’u. “He are a talented mL{S1 sian”

a) He fb’)b e c) %%Iented mu51cian d) No error

Where is the erorqa “the sentence : “The czil(<§ islaying on the table”.
L%
a) The cake @ b) is laying ; ¢) on the table d) No error

Which se t‘e/\e demonstrates correct SU,bJCC[ — verb agreement?
a) Theréts many books on the shelf? b) There are many books on the shelf
c) The}e was many books on theﬁme]f d) There ygfﬁ?many books on the shelf

Identify the sentence with correct SUb_]CCt — verb agtj@nt : @

a) Neither of the boys are going to the party
b) Neither of the boys 1%450;'5 to the party %
Vs

¢) Neither of the boys Were g going to the parfya ®
d) Neither of the boys’am going to the p%3

Choose the seng{gﬁnee with correct sub ct},— verb agreeme@

a) The news are Interesting b) The news is interesting
¢) The news were interesting d T eg{news am interesting
&N %’
Idcntlfyﬁhe sentence with S{r%ct subject — verb 3§reement
a) The majority of the p u]atlon is happy with¢he new policy
)’.,hThe majority of the B}llatxon are happ jth the new policy

) The majority ofthe opulation were happy with the new policy

d) The majority | Cghe,populahon am ha appy with the new policy

Choose the sefitefice with correct subject — verb agreement :
a) My family, 1siom5 on vacatlbg"ﬁext week

b) My famrlysare going on vacation next week

c) My family were going owacahon next week

d) My family am g,om%é;mvacmon next week

Identify the sentence with correct subject — verb agreement :
a) The pnce of the Se;,shocs are too high b) The price of these shoes is too high
¢) The price ol;g;fesc shoes were too high  d) The price of these shoes am too high

4

&

’J%\ Ver— A -4 o0of5
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44.

BN
';JI

46.

47.

48.

49.

50.

_ BPWSK106/206
Choose the correct form of the verb to complete the sente "gg%
SShe . her homework before dinner”. %93 b4
a) finish b) finishes c) ﬁn@@ d) finishing

) L]

Which sentence uses the verb “to swim” in thefngﬁcnse correctly?
a) She swimmed across the lake b) She swam across the lake
¢) She swims across the lake

Identify the sentence with the corre

N}if She has swum across{g;c lake
N

ct forkrof the verb “to be” in‘the present progressive
tense : ’ '
a) He are studying for the exa

n % b) Heam sludy‘ﬁlig for the exam
¢) He is studying for the ex %

d) He be stggZing for the exam

%k’
Choose the correct idiom.to complete the sentenc
“She was able to thin

e: *
k on her during the presefitation”.
a) head Q) feet
4

c) NQS d) ears
Which idiom m ansitto tell someone a

’
secrel’”’?
a) Spill the bea b) Hit the sack ‘éc Kick the bucket d) Break the ice
&

Choose théCg,r. ect phrasal verb to complete the sentence :
“Can yqQu please the window®hlt’s getting hot in h

— TS
a) b up b) break‘eg;g c) break u‘l$ d) break out
What does the phrasal verb Xto

sput off” mean? (ﬁ«%
a) To postpone b) rn off c) ﬂ%}) t away @) “Fo put on
> ®
’ %3 ’
N S

‘§\ Ver— A -50f5
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I Quéstidn Paper Version : D

USN

First/Second Semester B.E./B.Tech Degree Examination,
Dec.2024/Jan. 2025

Balake Kannada

£

P~
y 4
T
£

A \ [Ma‘( Marks: 50

Time: 1 hr.]

1. Answer all the fifty questlons‘h wach question carrles one mark.
2. Use only Black ball pbmtpen for writing / darkenmg the circles.
3. For each questign, ; after selecting your 'mswer, darken the appropriate circle
{ é 4
corresponding” to the same question number on the OMR sheet.
4. Darkening fvo mrcles for the same qtiestlon makes the answer invalid.
Ay,
5. Dnmaomg/m erwriting, using{w hiteners on the\OMR sheets are strictly
) Uv
proh‘blted A{}: b {-ei} o
Translate the following Kannada words as per fhe gwen model [Q%o 1 and 2]
Example : Kacheri — I\aéﬁ”en\a]h ¢ ,} =)
m“' sp’ '° ¢ ’%*\i’el
1. Mane w s} .
a) Manadalli fg_t b) Maneyinda " %) Maneyalli f\, d) Mane
/ n}% " &:t ® ’f&%‘
2. Angadi ~ .
a) Anoadiyalli b) Anaadlhattlra C) Angadiyage d) Angadiyolage
4 N 8 D,
3. How woilld you write “Thl§ is fay v Book” in Kannada‘?
a) Adu Nanna pustaka &3 b) idu nanna pustaka
), Idu Avaru pustaka ¢ > {d) idu nannadu
\\ 6"9 v L;;:P\“\%Q
4 H’o“ would you \,}\rﬂﬁwhat is this” in Kannada"
a) Iduelli ﬁ b) Idu yarlce» ¢) Iduyavudu d) Idu Avaradu
e % > « »
5. How wouldyou‘write Fruit in Kannada
a) Hoowu ¥ b) Ele , ¢) HaNNu d) BaNNa
6. How would you write ‘\vfl\x sir” in Kannada?
a) Ellisir l%"’-\’aake Saar ¢) Hogi Saar d) Banni Saar
&
7. What is the meaqr}ing;of “Student” in Kannada?
a) Huduga 4&™ b) Vidyarthi ¢) Jana d) Shale
A T4
A
\ Ver—D -1 of§
Y 4



S. ‘ '=~‘ v, .
a) Beku b) Beke c) B;d? 4 d) Yaake
i T N L 7 da? DL
9. How would you write “Marriage™ in Kannada.” /4
2) Habba b) Maduve c) Sabe t). Prerthare
Write the English word for the followinrg"fi  * :
10. Chikka P
a) Big b) Huge _ v  ¢) Small ¢+ d) House
11. PaaTa Y
a) Story b) Lésson ¢) Book s d) Drink
12. aNNa
- "1“ R \'\"'\
a)  Sister b).Mother ¢) Father d) Brother
, a, e
13. Ketta AY
a) Good _; ,,.;\\f ¥ b)Bad C.\;.:.--;,c\) New d) Big
4. Huduga~ D ~ 7
a) Soﬁqh}l b) Boy \ N ¢) Daughter™, d) Sister
Match the following usingﬁthe Tz;ble given belox:j;f:ﬁﬁ’;
@) Fruit )| Vaidya
4.b) | Tree 4ii} . “Desha
2 ¢) Flower 1) | Mara e
\ﬁ% | d) | Doctor  %Biv) | Hannuw
> ‘.I;-"\ 9 é
15. Fruit o : - A
—=; X - N —iN Y .
a)=1 s c) ;gfﬁ d)=iv
16. Tree s < ’
3)\i,i <y =1 = v
IS - =it d)=n
,.&1.\;\_}'* "«"bgg
17. Flower ’
a)=1i A c) =1v d)=v
o
18. Doctor =y
o ¢) =iii d=v
19. Country S
a)=1 b) =i c) =v d=v
Translate the following English sentence into Kannada sentence :
20. Who are they?

\ 4

How would you write “don’t” In Kannada?

a) Neenu‘yaaru b) Avaru yaaru c¢) Neenu yelli d) Avaru Enu
Ver—D-2of5
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22,

23,

24.

2

26.

27.

28.

29.

30.

31.

32.

33,

34.
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What is her Name?
a) Avalu yaru b) Avana hesarenu
¢) Avala hesarenu d) Ninni{v“h'g,s*ﬁrcnu
Yy ®
This is my Nation e
a) Idu Avara desha ~ b)'Idu Nanna desha
c) Adu Ninna desha ~d)Tdu Ninna desha
> ";X Y
What is your name? P "
a) Avala Hesaru Enu? ‘44”1:;;‘4 b) Avana Hesaru Enu?
c¢) Ninna Hesaru Enu? ﬁf 3 d) Nanna Hesaru Enu‘7
This 1s my pen. N ;; B
a) Idu nanna pustaka R 4 b) Idu Avara vastu
¢) Idu Avara Lekhani (*‘:zg\ ?\' d) Idu Nanna Lekhani
{' \
N
Fill in the blank for thc given English words into Kannada meaning :
{ 1‘,‘9 &“'{;"*17
Small o=
a) Udda @ b) agala "% ¢) Dappa d) Chikka
Q. b f
Salty, k.4 Ny N
a) huL.i™ b) Uppu 4 ©) Khara,” % d) Sihi
Simple Xg-,, A Y .
a) Khatina l‘)%igppu c), Sarala ,4,:;) Khasagi
%“‘ "
Daily % @ '
a) Nale <§> b) Nenne ..* . ¢) Nadiddu = d) Dina Nitya
= b A,
Bt Ao, : , ,
1gnity h
a) Samas<ye g b) Ghanathf} o) Sarix%%, d) Olleya
Write the Kannada Vocabulary for the followmg English words :
¢ ) &
child % &Y
’eh) navu ("?'tjAvaru 4=y c) Magu d) vidyarthi
" ’
Plant %g‘f\,v
N i : d) Remb
a) Mara ‘L) b) Gida A c) Hoova ) Rembe
Story < 4
a) Kate b) Angadi c) Mane d) Kavana
Sy
Where ?
a) Enu @ b) Eke ¢) yaaru d) Elli
Bad
a) hosa @*’ b) Naataka c) Ketta d) Olleya
%?* Ver—D -3 of 5
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46.

43.
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Translate the following Kannada words into English >

Maga s )
a) Father b) Sister c)‘_.l?aughtcr d)

Mane

Kempu BaNNa R
a) Black colour b) Red colour ¢) White colours,,  d)

w’

Translate the following Enghsh words into Kannada:

'

e = i e

a) Naavu ~ b).’Namma c) Namage d)

y 4
L,

This
) A, ¥ by Al g 1du d)

Fal
é

A
D S
He A !
A R /R
a) A,Xﬁ[}? 7 b) Avalu o e 4 ¢) Naanu [, d)

Fan

Match the following using Ta_,bl;given below : («t@‘? 4
e o

7 >
LN
¥

). | Girl ii), * 4 "Sihi Bl
Daughter piii),” | Granthalaya #
Sweet . 2v) | Bili £,

Library & [v) | Magalue™

o

508

d)
.
s
L0y =i d)

“Déu ghter

a) =i ) =iv d)
Sweet a 3" |
a) =1 ¢) =iii d =

Library

a) =i ¢) =iii d)

Write appropriétg words for the following :

Mother .
a) Huduga®, b) Hudugi ¢) Tayi d)
Ver—D -4 of 5

a) Temple b) House cj Church :v‘;d).

2) <] White D ] iHidugi g !

Son

"Hospital

Green colour

Nimage
Both (a) and (b)

Neenu

=iv

=1v

Tande
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»ffg}:?‘y
o %
47. Festival Ay
a) Maduve b) Habba ¢) Maf(@ d) Raste
®
48, Bitter Oy°
a) Sihi b) Khara c;js‘f@ppu d) Kabhi
o
49, Holiday % A;i‘fv
a) Mara b) Raje ({3 c¢) Nagu d) Ooru
’
50. Town '(Q' L) "
a) Halli b) Ar}ggﬁb c¢) Nagara d) Rajya
1% ,

@ Ver-D-50f5
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